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: ccuratel -
inutes to do this test. Work as quickly and a Y as yoy Can,
You have 10 minute

: _i competition.
Five people took partin a long judeed ir’?the table below.

The distances they jumped are recor

7 ma
Adam Bing Cho Dave Em

.02 m
435m 3.97 m 4.32 m 4.20m 4.0

1.  Who jumped the second longest distance? Circle the correct option.

A Adam C Cho E Emma

B Bing D Dave

2. Give the distance Emma jumped in millimetres.

T,

3. A regular pentagon is cut along the dotted line shown.
Two identical new shapes are produced.

How many obtuse angles are there in one of the new shapes?

a
4. Kailash has £43.90. He then gets paid £27.63 and wins £75 in a poetry

competition. How much money does he have now?
|
L[
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5. Tina visited sjx differen

: t supermarkets and wrote down the price of 1 kg of pears
in each one. The price

s are listed below.

97p, £1.03, £1.20, £1.25, £1, £1.15

Calculate the mean price of 1 kg of pears.

L J

y 400 g of mushrooms in a pack. A special offer pack of
rooms has 20% extra free. What is the mass of the special offer pack?

L1 Je

6. There is normall
mush

Film A was made in the year MCMLXXV.
Film B was made in the year MCMLXXXIV.
How many years after Film A was Film B made? Circle the correct option.

A 11 C 9 E 15
B 10 D 4

Lucas asks everyone in Year 6 where they would like to go on a trip.
He makes a pie chart of the results.

Bowling
,

Z00

Farm

8. What fraction of the children said they wanted to go to either the farm or the zoo?
Circle the correct option.

A % B %, C D 4 E 2%,

9. 24 children said they wanted to go bowling.
How many said they wanted to go to the zoo?

]

Test 1
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- . 1 § .
10. Mr Smith is knitting a scarf. It takes him 17/, minutes to knit each, fow,

He starts knitting at 5:15 pm. At what time will he have knitted 60 FOws»

BN
Sy

P:
y

11. Points A and B are joined with a line on the coordinate grid beloy,

VA
=1cm?
4_¢
0 - * : £
4

Point C is added to the grid at (5, 4). It is joined to points A and B.
What is the area of the triangle formed?

CDcm

12. The diagram below shows a quadrilateral.
An expression is given for the size of each angle in degrees.

x+ 20
2x

not drawn accurately
x+ 10 X

Which equation is correct? Circle the correct option.
A 3x+30x =360

B 35x=360
C 5x=180
D 5x=2330
E 5x=390

(o

4 © CGP — not to be photocops
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ately as you can.

You have 10 minutes to do this test. Work as quickly and accur

ck in steps of 4.

1. John creates a sequence by counting ba
hat will the third term be?

The first term in his sequence is 100. w

(1

2. Bananas cost 13p each. Chris buys five bananas and pays with a £5 note.

How much change does he get?
L

3. Whatis 56 855 rounded to the nearest 100?

(o

4. Which of the shapes below has exactly one line of symmetry?
Circle the correct option.

5. 204 x 7001 = 1 428 204

What is 2040 x 7.0012 Circle the correct option.

A 14.28204
B 142.8204
C 1428.204
D 14282.04

E 142 820.4

© CGP — not to be photocopied 5 Test 2



Max and Holly attend a holiday club. The percentage of time that they
the different types of activity is shown on the chart below.

100 "'5 :
Percentage 20 §= f[
of time spent go F— —F
on each = = .
activity (%) —4

6. What percentage of Holly’s time was spent doing sports? Circle the correct option.
A 30% C 42% E 88%
B 72% D 66%

7. The children spend 2/, hours at the holiday club.
How long, in minutes, did Max spend doing drama?

LT Jrmins

Aneena is making a path across her garden using square slabs.
The path is one slab wide. This diagram shows the first three slabs she lays.

< >
1.2 m

8. What is the area of one slab? Give your answer in cm?.

L e
9. The path needs to be 24 m long. How many slabs are needed?

Test 2 6 © CGP — not to be photocopied




10. A block of ice cream is shown in the diagram below.

5cm

25 cm

8cm

Mohammed ate '/, of the block of ice cream.
What volume of i

ce cream did he eat?

L Jom

11. Find the size of angle 4, shown in the diagram below.

2a
2a

a

not drawn accurately

C L)

12. Henry has written an expression. When x =
Which of the following could not have been
Circle the correct option.

4, the value of the expression is 24.
Henry’s expression?

A x(x+2)
B 'L+ 11x)
C 4x+ 8
D 8kx-1)
E 5x+5
()
© CGP — not to be photocopied 7

Tost 2



quickly and accurately as you can.

You have 10 minutes to do this test. Work as

1. Which of the shapes below is a regular quadrilateral?
Circle the correct option.

ANVAYAVRS

Mike planted some sunflower seeds on April 29th.
The shoots appeared on May 4th.
How many days after planting did the shoots appear?

N

[ I ]days

3. The graph below shows the changing temperature in a greenhouse one day.

20 /_\
Temperature
/T —
._._——/ *
6:00 9:00 12:00 15:00 18:00 21:00

Time

Use the graph to find the approximate temperature in the greenhouse
at half past three in the afternoon. Circle the correct option.

A 12°C
B 13°C
C 14°C
D 16°C
E 18°C

Test 3 8 © CGP — not to be photocopied



Red pens come in packs of 12 and blue pens come in packs of 20.

4. What is the ratio of red pens in a pack to blue pens in a pack?

Give your answer in its simplest form.

5. Ateacher orders 40 packs of red pens and 9 packs of blue pens.

How many pens have been ordered in total?

This pictogram shows the number of football cards owned by four children.

d
\ Key:
Q () =40 caras

Mila Luca Nadim Connor

Mila gives Nadim some of her cards so that they both have the same number.

How many cards does Mila have now?
L]
HEN

6.

7 What is the mean number of cards owned by the four children?

8. This formula can be used to convert a distance in miles, m, to kilometres, k.

k=8m+5

Using this formula, convert 20 miles to kilometres.

L i

9 Test 3
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‘

ors? Ci "
9. Which of the following is not equivalent to the others? Circle the Correct Oty

A 3 0f 60

B 10% of 180
C 3,0f24

D 0.18 x 1000
E % of 360

10. Linda has 5860 ml of pancake batter. She uses 45.ml .of batter to make
each pancake. She makes as many pancakes of this size as she can.

How much batter is left over? |
HERY

The diagram shows the line AB. Line CD is parallel to AB.
Line CD is half as long as line AB.

11. Which of these could be the coordinates of C and D? Cir

D C(4,4)and D@, 8)

B C(2, 4) and D(5, 4) E  C@3,4) and D(6, 1)

C C(1, 4) and D(7, 4)

12. Line AB is reflected in the X

axis, then tran :
What are the new coordinat slated T unit left

es of A? Circle the Correct option. |

e ¢ 23 E (-1,-6) |

B (], "‘6) D ( g ;\

’-3/ 6) 3

'3 ;(g,;pé; ’
10 © CGP — not to be ph&“’-" (N



1.  MrJones puts sev .
en tulips
How many tuli PS on each table in his rest
S : is re
y Wlips could there be in total? Circle :Pt)aeucrzrr]rt' l:le nas three left over:
ect option.

A 60 C

56
B 21 E
D 11

59

2. ltis-18 °C inside
increases by 5 °C a Vf\;Eeze?r. Its door is left open and the temperature inside
. at is the temperature in the freezer now?
-(-

3. The net below is folded to make a 3D shape.

B
A
¢ X
E
D
Which side of the net joins to side X¢ Circle the correct option.
A B C D E

heights of its bounces form a sequence.

4. Aball is dropped onto the ground. The
hown in the table below.

The heights of its first four bounces are s

Bounce 1 Bounce 2 Bounce 3 Bounce 4
40 cm 20 cm 10 cm 5cm
What will be the height of its sixth bounce?
‘ i H l lcm

11 Test 4
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Te st 4

i

d a drink. The children each, o
od between juice and milg %
o chose each option.

a biscuit an
4in biscuit @

. . a l
between a chocolate biscuit a:;ci) erpOf !
The table below shows the nu

Juice | Milk Total
T 9

5

,-————"""T

_P_EQEQE—E—__———-—-—"—'—"
Plain 70
Total 12

T e
ose a plain biscuit and juic

5. How many children ch
Q\

6. What percentage of the children chose juice?

7. Work out the area of the shape below.

10 cm s.,

&
) >

6 ch I%{ not to scale
18 cm

b
7

8. Noabh fills 26 empty

jars wi
Noah puts 450 g of J-J with homemade

am into each jar, W JaM. An empty jar has a mass of 9§ |

hat is the total mass of the filled jam ¥ i
/‘[/‘\ ?if‘

(,". W()l’k O t .' r ) n

A 4/ 15
B 4/5 C 12 /15 ‘)
D ‘l ]/1 = E 2;/15



61°

A 9.25p

B 6(3.25p)
C 6+3.25
D 6p+3.25
E 6-325p

12. The graph below shows the cost of painting plates at Plates R Us Pottery Studio.
Plates R Us is free to enter.

259’ ! ] T
i | i
204+ttt
s R ;-
A 15- [ ?
8 S s 4
O SO S 7
1 0 1; +’- ey ;-m—;- _t P.,-_i*.-,,,___
1A 1] 1 B
51+ AT T
A
0 - r T
0 1 3 4 5 6 7

2
Number of plates

Gina wants to paint ten plates. .
How much will she save by going to Plates R Us instead of Smashers?

e L

/12

Test 4
"(’-._, )j 13
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... — 1 e auickly and accurately as yoy, '
You have 10 minutes to do this test. Work as quickly YOu can,
ou have

erimeter of 600 mm. How long is each side;

mmn
2. \WWhatis 148979 -20072.22

Use estimation, then circle the exact answer from these options.

1. Aregularpentagon hasap

A 1394568
B 28029.7
C 1689006.8
D 128906.8
E 60610.7

3. The diameter of a circle is 12.8 cm. What is the radius of the circle?

oom. Ash works out that he can fit four
n below across the wall with no space left over

4. Ash has a 7 m wide wall in his bedr
different items from those show

bookcase

chair

* p /
\<‘ X rs
AR drawe

< 3
1.00m 2.95m S g —

Which item does Ash not use? Circle the

Correct option.
A bookcase ption

C b
B desk ed

€IS
D chair E dl‘a\A

Test 5



5. Ruby has '3 of a pj
What fraction of ng\;‘h?)nehe{ PIaFE. She cuts it into three equal slices.
Circle the correct option, Pizza s each of these three pieces?

A g
B %

6. Atent covers a rectan

ular a :
What area of ground & rea of ground measuring 4.32 m by 6 m.

does the tent cover?
L

This bar chart shows the number of bikes sold in different years by a bike company.

254

20

Number of bikes sold
(thousands) 151

10

5_

2004 2015 2016

Year

0 T ™
0 2002 2003

Why is this bar chart misleading? Circle the correct option.

A The bars should not be shown as 3D blocks.

The bars should be different colours.

Some years have been missed out.

There is no grid to help you read the values exactly.
The scale should go up in ones.

mgoO W

8. A candle is lit at 6:30 pm. lt burns ata steady rate and lasts until 8:45 pm.

At what time had Vs of the candle burned?
LT e

CCGP — not to be phum(opivd 15 it




an mark for the five tests is 7.
e C

9.  Sarah takes five spelling tests. Her ™ or the six tests is 6.
She takes a sixth test. Her mean marlf t?\rtest?
How many marks did she getin the siX

an

\\\J’

10. Lucy starts at a number and counts Up in steps of 8. One of thfegirgbers
she counts is 17. Which of these numbers could she have star
Circle the correct option.
A -16 c -23 i
B -17 D -24

_1). The coin is then moved
rdinates of the coin now?

C L)

11. On a coordinate grid, a coin is placed at point (=2,
left one square and up two squares. What are the coo

12. Omar makes the patterns below out of blocks.

Pattern 1 Pattern 2 Pattern 3 Pattern 4

Which expression represents the number of blocks in the nt
pattern in the sequence? Circle the correct option.

A 2n+1 C n-1 E n2+n

B n?+1 D »2
( /12

Test 5
16 © CGP — not to be photocopied
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Now for a break from 10-minyte tests. Try out your skills on this puzzle.

—

pyramid Problem

To be allowed to enter the Great Pyramid of Multiplia without being cursed,
explorers must first solve a puzzle.

Each box on the pyramid must hold a number that is a
multiple of all the numbers in the circles attached to it.
An example mini-pyramid is shown on the right:

Oh, one more thing. You have to use these numbers — use each exactly once.

140 105 6 8 22 57 15 210 84 12

17



i as quickly and accurately as yoy ¢, N
. b 4 &

N ork
You have 10 minutes to do this test. W

» largest value?
. 7 have the larg
1. Inwhich of the numbers below docs the 7 he

Circle the correct answer.

A 1234567

B 17238

C 10007

D 9527

E 6542799

The quiz scores of four teams are shown on the pictogram below.

FAaEarno
Team A §5) Bt L
Eaern
Team B Eid Eid
Team C | By B3 B £
TeamD |EX EAED
kd Key: Ea = 8 points

2. How many more points did Team D get than Team B?

Kl i c B EM mmy o ’

4. Arectangle has 3 width of 15 ¢ cm,

. l '
What is the perimeter of the rectangtls I?eng th is twice its width

o
v P
Tesst £, 3
- - - 1‘ \‘ 1

18




A teacher asks a class to write down as
of to make the number 24, Jasw n
Which one is wrong? Circle this

any different ways as they can think

rites down all the statements below.
statement.

A Square five then subtract one.
Divide 144 by six.

Find five percent of 120,

Multiply eight by three.
Subtract 76 from one hundred.

moO®

6. Lia pours out 150 ml of lemonade from a full 2.5 litre bottle.
How much lemonade is left in the bottle? Circle the correct answer.

A 1 litre

B 2.25 litres
C 2.485 litres
D 2 litres

E 2.35 litres

7. Stevie draws the triangle shown below. It has an area of 24 cm?®.

not drawn accurately

height

4cm

What is the height of the triangle? EI——J
cm

8. Each letter below is a Roman numeral.

| V XL CM

Find the sum of the numerals shown which have exactly one line of symmetry.

Write your answer in figures. [ I 1 | I,j

19 Test 6
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9,

10. Adam collects eggs every d

11.

12.

't 6

nd 40.
: s tween 30 2 »
Find the sum of the two prime numbers be ;’“«‘--\\

From Monday to Friday, Adam earns £7 Q0 per .
aV. r ¢ L,
2} he weekend.

-

He earns double this amount per day at ull week?

) ay over the t b 4
What is the mean amount he earns per d Y rg ‘é ; ~
£ M

Which of the following expressions can be used
to describe angle 5 in the diagram?
Circle the correct option.

A 360°-g
B a

C 2a

D 360°-2q
E 180° — 4

The cost, B, in pounds, for each person to attend a board games event can be
found using the formula B = (24 = n) + 2.5,

n is the number of people attending the event.
How much will it cost per person if 10 people attend?

20 © CGP — not to be photoc o



you t

1. The number 8 bus always runs exactly on time
Part of its timetable is shown below '

wave 10 minutes i
to do this test. Work as quickly and accurately as you can.

Bus Station Cinema City Park | High Street | Back Street

1425 1437 1455 1504 1515

Dan is waitir.\g at the High Street stop. It is 2:47 pm.
How long will he have to wait for the number 8 bus?

[ Jminutes

2. Which of the following rounds to 20000?
Circle the correct answer.

A 2499 to the nearest 1000.
19590 to the nearest 100.
19590 to the nearest 1000.
20005 to the nearest 10.
20500 to the nearest 1000.

mgo O ™

Jack and Jill are making 3D shapes from coloured cubes.
Each of Jack’s cubes has a width of 1cm.

3. Jack used six of his cubes to
make the shape shown here.
What is the area of the bottom
face of the shape?

4. Jill's cubes are 2 cm wide. Jill makes a shape using three of her cubes.

How many cubes would Jack need to use to make the same shape?

LGP — notto be phut(,;C()picd 21
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~4

. ()2
- L ‘\/l(,ed l)‘v «
What is the remainder when 257615 di

Look at the number line below-

4
0 2
o? Circle the correct answer.

\What number is the arrow pointing t
13/3 E 3

10, c 3 D

f &

>
A 2‘73 B

v

same area as the shape shown below?

Which of the following shapes has the
Circle the correct option. 2m
S
™

A A square, width 5m
A rectangle, width 4m, length 5m

w g

B
C A parallelogram, base 7m, vertical height 3m 3m
D A triangle, base 10m, height 4m g
E  None of the above
5m

Kemi thinks of a number, divides it by 1000 then adds Y/, to get 5

What was the number Kemi thought of? j

Mark says,
“My age lies between the squares of 6 and 7

It is a prime number, and the digits have 3 difference of 1
ce of 1.”

i

How old is Mark?

2
: © CGP — not to be
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. The graph below c3
10 5 n be used to help convert between miles and kilometres.

; e o S ‘

41 5 LA S S S | 44 i

S | gt ST D Y N | S - 4' ¢ |

D 3Tt T LT
-Q_’ Tttt gL

= 2) bl o ARENEE

s NEREY damm e R

Tttt 4 A bl

1 4,, e S

e
12 3 45 ¢ 7

Kilometres

Use the graph to convert 25 miles to kilometres.

L e

11. The shape on the right is a kite.
Which of the following is true?
Circle the correct answer.

A x+y=60° 150"

B x+y=240°

C x+y=360°

D x+y=120°

£t x+y=180° not drawn accurately

12, A number sequence starts on an even number, and its 10" term is odd.
Which of the expressions below could be the n™ term of this sequence?
Circle the correct option.

A 2” C n2 E nz + 1
B 20-2n D 2n+1
/12
Coap o not to be phr)i(:cnpicd 23 fest7




. rately as yoy & .
:~kly and accu ;
inutes to do this test. Work as quickly
You have 10 minutes ¢

i ining five smy)|
ack containing all pagy.,
1. Asmall packet of pupc' e is saved by buying .
costs £3.80. How much mone)

small packets?

i [ S.
2. The shape below is made from three identical regular hexagon

not drawn accurately

i
The perimeter of one hexagon is 36 mm,
What is the perimeter of the shape?

The shoe gjza of

a sixth €rson js
T,.!:,g mean shoe g6 of the sjy eop] o5 the .
What is the shoe SiZe of the th pe o
rson?

24



- Jen makes a sequence of -

5. Jenn € of numbers using the f : . ,

: , ~ e following rule wt number:
«Dauble the previous number and addhnine ” ng fule to find the next o

Which of these could be Jen's sequence? Circle the correct answer.

A 1,29 C 3,15 39, E 1.10,29..
B 1,11,22.. D 2,11,2
6. Across and five lines, labelled Q-U, have been ¥ i )
drawn on the coordinate grid to the right. 8 — v
The cross is translated 5 squares up and 2 squares left. ('5"'7"("4'“'" A
On which line does the cross now lie? 6 //
Circle the correct option. A~
A LineQ 4 -
L P
B LineR 2§ ap
. /
C LineS % L/ T %z_ﬁ
D LineT O0 > 4 5 g
E LineU

Kate ran to the top of a hill and back down again. The graph below shows
how her height above the bottom of the hill changed during the run.

200
< 150
£ 1001
3 501

I T T T 1

0 1 2 3 4

Time (mins)
7. After how many seconds was Kate first halfway up the hill? [
R

8. Last time she ran down the hill, it took her 1 minute 45 seconds.

How many seconds faster was she this time?
[:j:] seconds

“ CGP w it 10 be photocopied 25 Test 8




aller bracelet’s
. The smal
n below.

" celet.
as show roer bra
Cat has two circular bracelets, at of the larg

).
2 of th
. {osprs are 3
diameter and circumference ¢

ARV,
0

-
£

75mm__J} not drawn aCCUrate;y

. bracelet? _
9.  What is the radius of the smaller .

d the Circumferenc,

i nly spaced aroun ' |

has a number of jewels eve :

10. ﬁchS b;i«i::‘f’e:s the same on each bracelet. There are 25? J((a:v.ve:s |tr;) éoé?),r rc:;tboth‘
braecerl)ets ﬁlow many jewels are on the larger bracelet? Circle anse,

A 5 B 10 C 15 D 17 E X%

e

The ages of two sisters, Abi (aged A) and Bella (aged B) satisfy the equation 24 - 38=3

1. Which of the following could be Abij
Circle the correct option,
A Abiig 4, Bella is 1
B Abiis 3, Boll is 2
C  Abiis 3, Boll is 3
D
E

and Bella’s ages?

Abi is 3, Bella is 1
Abi is 4, Bella s 2

P2 Bella s actually 9 year old. oy old is Ab;

RY;




you have 10 minutes to do this test. \Wo

rk as quickly and accurately as you can.

1. What is the size of the acute angle in the diagram?

120°
not drawn accurately

LT

2. Which of the following is an increase in temperature of 10 °C?
Circle the correct option.

A -1°Cto11°C

7 °Cto -3 °C
-5.9°Cto 6.1 °C.
-5.5°Cto 4.5 °C
-27 °Cto-37 °C

m o O w

Gita is making tea and coffee for a meeting.
The part-filled table below shows the drinks that people have requested.

With Milk No Milk Total
Coffee 15
Tea 13 29

Total 65
3. How many people wanted coffee with milk? ED
4 What percentage of people wanted tea with mitk?

Circle the correct option.
A 2% B 5% C 10% D 20% E 50%
NP <oy be photocopied 27 Test9
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f f ple with different hair colours at a pan,,
>0
number ot p€

The bar chart below shows the
%0 ——— |

Frequency
N
o

?

S
£

d Bfk Other

10 Red Brown Blon
Hair Colour
2
other colours¢
5.  What hair colour is twice as common as one of the
Circle the correct option.
i D Black E  Othe

A Red B Brown Cc Blond

: nt.
6. Why is the bar chart misleading? Circle the correct stateme
A It doesn't allow for people with grey hair.

B The vertical axis doesn't increase evenly.
C The height of the bar for brown hair is not a whole number.

D The bars should be coloured to match the hair colours.

E The vertical axis doesn’t start at zero.

Jo is following a recipe to make 18 chocolate muffins.
She measures out 450g of caster sugar into a mixing bowl.

7. What will be the mean amount of caster sugar in each muffin?

8. The other ingredients are added to the mixing bowl. The total mass of ail the
ingredients is 2.5 times the mass of just the sugar. Find the mass of the other

ingredients. Give your answer in kilograms. .

9. %5x=90. What is the value of x?

Test 9 28 © CGP — not to be phn:m'ng‘-rﬁ‘-



10. \Whatis the area of the shape below?

wuw 0G¢

150 mm

200 mm

S O O O O O

11. Which of these is the largest proportion?
Circle the corre

Ct answer,
A Vyxy,
B i+l
C -,
D 'Y5+4
E Y, x3

12. The first three shapes in a sequence of cubes is shown below.

Cube 1 Cube 2 Cube 3

2 cm

3cm 4 cm

What is the volume of the 9 cube in the sequence?

LT Jem

© CGP — not to be photocopied
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&
S

You

Test 10

have 10 minutes to do this test. Work as qU'CkI

Four irregular shapes are shown below.

y and accurately as you can,.

' i ct?
Which of the following statements about the four shapes is corre

Circle the correct answer.
A There are three hexagons and one pentagon.
B There are four pentagons.
C  There are two pentagons and two hexagons.
D There are three pentagons and one hexagon.
E  There are four hexagons.

What is the largest factor of 50 that is also a factor of 602

Cheshire cheese is usually priced at £1.50 per 100 g.
How much would 100 g of Cheshire cheese cost if the
price was reduced by 10%?

A square has a perimeter of 44 cm.
What is its area in cm??

30

L JUL

L e

© CGP — not to be photocopit‘d




.

5 The ruler below shows inches and centimetres

6 cm ’i 2‘ é ‘i é Y T
Oin 7 8
ches 1 % 3

|

m—n

Use the ruler to e§timate the number of inches in one metre,
to the nearest 10 inches. Circle the correct option.

A 20 inches

B 40 inches |
C 200 inches
D 250 inches

E 400 inches

6. There are fewer than 200 pupils in one year group. The pupils can be split up
into 9.c|asses, with an equal number of pupils in each class. They can also
be split up into 10 classes, with an equal number of pupils in each class.
What is the largest possible number of pupils in the year group?

The pie chart below shows how 200 people responded when they were asked,
“Do you own a pet?” The angle for the “Yes” sector is 45°.

that own a pet, half own a dog.
total own a dog? Circle the correct answer.

L L1

Tost 10

7. Of the people
What fraction of the

A ,/1.‘ B 1/4 C

1,
20

, T 5 EE
4. How many people said that they do notown apet

3

P oot ta b 5,f;1;f{;l l)iui'(’




9. The diagram below shows a design made e of A
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Use the diagram to find the area of the blue r
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10.  The first four terms in a sequence are 1, 9, 25 and 49
What is the next term in the sequence?

A point on a grid has coordinates (x, 2x + 1).

h of the points labelled on the grid below goulg ;hcs bg?
er of the correct POINL A “uais (ot St ule

T
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now for a break from 10-minute tegts Try out your skills on these puzzles.

—

safe as Houses

Ms Match keeps a spare door key in an electronic safe in the shed.

It is accessed with a 5-digit code. There are no repeated digits in the code.

ConseCUﬁV? numbers, such as 3 and 4, or 8 and 9, are not found next to
each other in the code.

 Ifawrong code is entered, the safe is programmed to give clues. Two
~ attempts to input the code are shown below, with the clues given by the safe.

12345 67890/ |[<
e € O O e ® O 8 8 :
O € O O O O O 8 : 8 Digit not Digitis  Digitis
incode incode in code
butnot inthat
Can you use the clues to crack the code for the safe? inthat  position
position

Interesting Times

All three clocks in Andy’s house show different times:

Use these facts to work out the correct time:

* One clock is one minute slow.
* One clock is fifteen minutes slow.

* One clock stopped exactly eleven and a half hours ago.

* It's now afternoon.

oy

S e i e R R N R Ve v

\.__

o s
M= ot to be photocopied 33

Puzzles 2




You have 10 minutes to do

to

Test 11

quickly and accurately as yoy can,

this test. Work as

urt.
ngth of a netball o

c 305cm
D 305m

Circle the most likely le

E 30.5m?
A 30.5km
B 30.5mm

ting to? Circle the correct answer.

!

What number is the arrow poin

y ! 25
A 2.51 B 29 C 249 D 2.48 E 2.95

An ant is at point A on the coordinate grid below facing north.
He turns 90° anticlockwise and walks forward two squares.
Give the coordinates of the ant’s new position.

5t N
4-

3" A. I
2-

1..

JM
01234567x

O

ack. They leave the start line at t_?f:;
every 2'/, minutes and Marc CYU{
many minytes will it be before th¢

PRI —v«-""“? . }‘ 'l't‘h‘
R 1111
e i u‘-*'“’*"‘j

Lisa and Marc are cycling aroun

d d Cir X
. (_Ular
CIC‘S once ar tr.

ound the trac)
Y 3 minyteg, How

next leave the star he same time?
Ime?

tline at




V
in a football club there are 40 children, /s of the children are 9 years old,

15% are 10 years old and the rest are 11 years old.

5. How many of the children are 11 years old? Circle the correct answer.

A 6 B 14 C 20 D 26 E 30

6. The football coach wants to draw a pie chart showing the proportions of children of

different ages in the club. What angle should the ‘9 years old’ sector have?
Circle the correct answer.

A 727 B 54 C 36° D 15° E 45°

7. A 500 g bag of bird seed costs £1.99. Paul needs 4.5 kg of bird seed.

How much will this cost?
LU

8. The perimeter of the rectangular field shown is 44 m.

12m

v

<

not drawn accurately

What is the area of the field?

L

{om needs 2p coins to play a game at an amusement arcade.
He changes two £2 coins and three 20p coins for 2p coins.
How many 2p coins does he receive?

PR e e,
!  {
A ,,_,,,I_.m._. .

S gy " ! p:
TN be photocopued 35 Test 11




inking
10. Jamie says, “l am thin

c O, mking O
I | add them together ?r;rs Jamie s thinking 4
What are the two numbet . 4

ir babies.
. s of their bz
11. Two mothers are comparing the masse

eis 3.5 kg.
Babv Eric is 5.5 pounds and baby Su
/SRR NNANEER RN
o 2 a s T
g Br O A A ol B L $*:‘}
(U e b f——-«p—--;~ ! !
5 MT— e A < TS WS G & v‘».uL_ 4 ,
L 2 L :ﬂ---i— — i~ #«%—l-«,‘—--"'mf._ "'?""LT
F s o SN0 S e e s e
¥ B
53T 56738

pounds

Which statement is true? Circle the correct answer.
A Baby Sue is heavier than baby Eric by 2 kg.
B Baby Eric is heavier than baby Sue by 1 kg.
C  Baby Sue is heavier than baby Eric by aboyt 2.25 pounds.
D Baby Sue is heavier than baby Eric by exactly 2 pounds.
E Baby Eric s heavier than baby Sye by 2.25 pounds.

given by this formula:

of 3 o . .
Circle with, a diametor of 20 cm?




you have 10 minutes to do this test. Work as quickly and accurately as you can.

. ‘
\hat is six miilion, _ Y N

. \What Is i ; -on tour hundred and thirty thousand and seventy-two in figures?
Circle the correct answer,

A 64372 C 6043072 E 643072
B 6430720 D 6430072

Ron is doing a sponsored walk. After walking 8 km, he has done 25% of the walk.

How long is the walk?
L Lk

In a talent show, children voted for their favourite act. Here is a chart of the results.

16

to

Number of votes

fo o)
L
!

|

1

|

{

|

|

0 Singer 'Gymnast Juggler 'Magician' Dancer
Act

3. Which act got the same number of votes as two other acts combined?
Circle the correct answer.

A Singer C
D Magician

Juggler E  Dancer

B Gymnast

4. What is the ratio of votes for the magician to votes for the gymnast?

Give your answer in its simplest form. e

;’v_-i £ . RIS
P not tg he pht i upiuf 37 Test 12
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'“‘%%‘._7
¢
A e o n below.
> Aspinner numbered 1-10 is shown
~ actors of both 24 and 302
How many numbers on the spinner are factors of be A
Q
6. R

qj makes the sequence of patterns below.

Pattern 1 Pattern 2 Pattern 3 Pattern 4

LN IN NN NN

How many lines will there be in Pattern 102

Andy is taking part in a long-distance bike race. Riders st

art at 6 am on Monday
and must have finished by 4 pm on Wednesday,.

How many hours does Andy have to complete the race?

at part of the race?

the correct answer.

8.  Over the first four h

ours of the race, And
What was the mea

Y rode 136 km.
n distance he cycle

d each hoyr during th

9. 8kmis dpproximately 5 mjles.
What is 136 km approxim

Y equal to ip Miles? Circle
A 68 miles

miles
B 85 miles D 150 mile e,

> o - 2 ‘
Tt 12




\ 10 N 1S shown below,

' 95 cm

141 cm

."52 cm

10. What is the area of the floor of the cage?

11. Each pet rat needs about 0.07 m? of cage space. Use estimation to work out
how many rats you could keep in this cage. Circle the correct answer.

A 1 B 5 C 20 D 10 E 100

12. The graph below shows how y is related to x.
Yy

T 1 ]
6 T
5l 5
4 mfetenit—1—4 =TT T
T 1 o T T
,+,,.47»_f~«+»--ﬁ e f_ﬁ . ;
3 ’”i’"““'w*:;d»«%—?;zﬁm /;/:ﬁ}lﬁi—r 1
: . L ' + 4t
,.:,“ 41 B . !
2 —fﬂ——"T-*:P"’ﬂ*‘: -—‘—-—T« 04'-*1?-:;- t+ A‘-Jr-
1 - . 4~-—+—+‘T 1 — 1 -
AT IS EENREREE
0 12345678910x
Circle the equation below which shows the same relationship.
A y= ‘/zx
8 y = Zx
C y=x+2
D y=x- 2
E x=Ty /12
!fjs. ‘(;;‘ W - 3‘) ‘v“x‘ }2

MR 16 be photocopied
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e nd accurately as you (.
You have 10 minutes to do this test. Work as quickly and:< Y a8 you cap

. . it be shaded so thy
1. What is the least number of extra squares that must ‘ .

) e i stry shown?
the grid has the two diagonal lines of symmetry

N /
e \\“
T
2. Which set of angles could be found inside a parallelogram?
Circle the correct option.
A 50° 60° 130°, 120°
B 50° 50° 125°, 125°
C 50° 50° 130°, 130°
D 50°, 50°, 40°, 40°
E 50° 60° 125°, 125°
3.

nce in hei wers!
Circle the correct option, ight between the two to
A  035mm C 35cm .

4. Jon makes a scale model of

his pet do ,

0

Test 13 40

ng, how long will the model be?

"\
|
u
o R ..‘-"’"’f

it

AN 3
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. sdontical isosceles 1 R )
oo THCNHETAL ISOSCEIOS trianoles are v o . .
Three i SIS e Cut trom a piece of card, as shown below.

W ]
L/ / 20 en
i/’ / [« R not drawn accurately

32cm 2

5. \Whatis the area of one of the triangles?

[ 1 I ‘]cm*
6. \Vhat percentage of the piece of card is left over after all three triangles

have been cut from it?
70

The petrol tank in Emily’s car holds 72 litres when full.

7. Petrol costs £1.11 a litre.
How much does it cost Emily for a full tank of petrol?

L O]

8. The diagram shows how much petrol is left in Emily’s petrol tank after a journey.

How many litres of petrol are left in the tank?

LT Dt

. i Test 13
- TThotto be photocopied 41 s




ks. The total number gf b,

. on Wee o 0 g
sting Seve sach week, as show,
e e rtina readathon lasti v_{ .d at the end ot eacl )< Shown i
Class 5 are taking pa e readathon is recoraed «
. 4 23« ¥ b
read since the start ot the Te«
the graph. e
S, o B
400~ e
v |t T
9 i —t 1
&3001 T T T
R S s A S Ly e
X A S .
3 e T
001 T AT
w NN O s i
O oo Y IS TUUEE S ey R
S T 1
R e s s E
1 —
F—F—2 3 4 5

Week
9. How many books were read during the second week? Circle the correct answer,

A 25 C 75 E 40 |

B 50 D 125 -

|

i

10. There are 30 children in Class 5. What was the mean number of books read i

by each child during the first four weeks of the readathon?

11, 1f3(x~2) = 39, whatis x? Circle the correct option

A 34 C 15

. b 1) E 136

12, Steven makes up a seque

‘ nce. Each term
Circle the expression tha e

St ’ .
tcould give the ,n EVeN’s sequence is odd.

A 2n term of Steven’s sequence.
B 3 C my 1 E
on 2
D 2n + 2 n I
Test 13
42 p (\Qi‘\t
B ay N N 1 towe (% 4



you have 10 minutes to do this test. Work as quickly and accurately as you can.

,, £1801is shared out equally between some brothers. Each brother gets £30.

How many brothers are there?

9. The net below is folded into a cube.
o

The cube is placed so that the grey face, , is at the top.
Which face is at the bottom? Circle the correct answer.

Al B cle o [] E [4-

3. Karen counts back in threes from 17. What is the first number less than zero
that she will count? Circle the correct option.

A -1 C -3 E -5
B -2 D -4

4. Ahmed is making fizzy apple juice. He pours 1.75 litres of apple juice into
a jug and adds 500 ml of lemonade. He then drinks 150 ml of the mixture.

How many litres are left in the jug? Circle the correct answer.
A 1.9 litres C 2.1 litres E 1.6 litres
B 6.6 litres D 5.25 litres

@
CGp 43 Test 14
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s
; . %,
i 1o v many of their baby tee
The children in a primary school were ashed how y Y teeth they'd o 4
The results are shown in the table. t
Number of teeth lost Number of children |
0 30 |
1-3 £
4-6 35
7-9 20
10 - 12 21 F
more than 12 19

941

6.

~d

E ‘Tf:"&{ 14

How many children had lost more than six teeth?

\\.’hat fraction of the children hadn't lost any teeth?
Circle the correct answer.

"
A /4 B 7/5 C 3/5 D 3/4 E ]/6

To make a certain shade of green, you mix one part blue paint with

five parts yellow paint Kay wants to have 300 int
. ml of green pain
How much blue paint should she use? 8 paint In total,

P :
ound coins have a mass of 9.5 g each. Sarah Puts 100 of them into an empty

money box which has a mass of 75 g, What i
) . : - a
including coins, now? Give your an%wer intk'i?otgrea toial mass of her money box

{
~L',P!t

44

yhotot

© CGP — not to bel
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). The volume of this cuboid is 348 m?.

3m

5m

What is the cuboid’s length?

(]

1. A triangle on a coordinate grid is translated to a new position as shown.

A (4, .9)
SN (7,8)

(6, 3)

v

What are the coordinates of point P? Circle the correct answer.

m Qo 0 ™

12 A gardener uses the formula C = 50 + 0.9m to work out G the cost in pounds

for cutting a hedge, where m is the length of the hedge in metres.

What will be the cost of having a 20 metre hedge cut?

0 Test 14
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and accurately as you gy,

You have 10 minutes tO do this test.

imes that a bus stops in six different towng

1. The timetable below shows the ;'me
The bus always runs exactly on HiE

il : i Clayt
Broom Caston | Yew Bridge Richby 10{3;” Fryton™
oggz 6927 0057 1014 1104

et from Easton to Fryton?

ce between the smallest and largest numbers listed below.

How long, in minutes, does it take for the bus to g

2. Find the differen
88.10, 87.43, 87.62, 88.04

3. Look at the diagram below.

X

T~

Circle the best estimate for the size of angle x from the options below.
A 1000 B 200° C 1600 D 2600 E 1810

4,  Clive makes a sequence using the following rule:
‘Subtract 1 from the previous number y
: , then multiply the re ’
i . sult by 4.
Which of the following could be Clive's sequencg?yCircle the cgrrect option-

i b € 3,12,48. E 3,83
B 321. D 2,412
Test 15 L
6 © CGP — not to be Ph‘mm



»

h

\TV prosenter wishes a h

appy birthday to S n
o ages of the children Y 10 some children.
il Vo

vho are wished a happy birthday are 5, 6, 8, 2,4 and 5.

5. Whatis the mean age of these children? Circle the correct answer.

A 45 B 5 C 55 D 6 E &5

Two of these children are boys. The mean f the girls i
How old are the boys? age of the girls is 6.

[ Jana ]

7. Jo needs to pack away 1204 Christmas tree baubles. She can fit nine in each box.

How many boxes will she need?

8. Ranjit makes a pie chart to show the number of cars of each colour in a car park.

blue %

red
ars were there?

There were 23 blue cars. How many silver ¢ ( I 1 ]

Legp 47

T ot to be photocopied
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9.

11.

12,

138 x 44 = 6072

Circle the incorrect calculation below.
A 138x22=6072+2
B 138x88=6072x2
C 138x11=6072+4
D 138 x 4.4=6072 + 100
E 138 x 440 = 6072 x 10

i o
: : : [ly cost £48 but there is 359, off the Price
an is buying some trainers. They usua . |
ii'\ ;Zzﬁe U[\{I\r;%] also has a student card that gets him 10% off the sale price,

How much will Ryan pay?
L

Darcey is thinking of a number. She says, “The number is 3 prime number
between 30 and 50 ¢ is one more than a multiple of 7"
What number is she thinking of?

The shape below is a kite,

6 X+3

Circle the EXpression thy gives th kite's peri
Mmeter
A x4+9 C 2 +18
B 9r4g




cake Cutling

six people at a party share a cake.

They each have a different sized piece. = 120
Use the clues to work out who has 60°
which slice of cake. 50°\30

Clare and Dillon together ate '/; of the cake,
Adam and Gosia together ate '/, the cake.
Clare and Fred together ate '/; of the amount
that Adam did. Eve ate the rest.

Symbol Suins

In the addition and multiplication below, most of the digits have been
replaced by symbols. A symbol that is used in both calculations represents
the same digit in both. Each symbol represents a different digit.

N % [] \ SAA¥
+ A%/ X []

*52 5046

1 1 7 3

Work out which digit each symbol represents and write
it in the correct box below.

A0 O-0O *0O0 %+
A= f= O- ¥ -

€

(‘("p

.

. Puzzles 3
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You have 10 minutes to do this test. Work as quickly and accurately as YOu cap,

: -ulation?
1. What number will correctly complete the following calculation?

x 15 =30+ 30 + 30

ny

This timetable shows train journey times between the towns of Birville and Manctop,

Departs Birville| 0931 | 0957 | 1031 1057 1131
Arrives Mancton| 1059 | 1125 1159 1225 1259

2

2. How long is the train journey between the towns?

3. Juliana needs to be in Mancton by noon. It takes her 3/, of an hour
to get to Birville station from her house. What is the latest time she

could leave her house to get to Mancton on time? ::

4. Mel is describing a shape. She says, ‘It is an irregular quadrilateral.
Its diagonals are always lines of symmetry.’

Circle the shape is Mel describing from the options below

A Square
B Rectangle

C Rhombus

D Parallelogram
E Trapezium

T
P
A

b
fesl 14 5( & = shoter™
W € CGP — notto be J



5. Kyle spends the following amounts on snacks each day from Monday to Friday:

£2.00 £1.00 £1.50 £2.25 £1.25

\What is the mean amount Kyle spends per day?

L I

6. Which of the following numbers is the same as '%/?
Circle the correct answer.

A 175 B 22 C 225 D 25 E 238

7. Inabag of nuts and raisins, there are four nuts for every raisin.
There are 96 nuts in a bag. How many nuts and raisins are there in total?

Circle the correct option.
A 24 B 100 Cc 120 D 200 E 216

8. Asif wants to make a cardboard net of the cuboid shown below.

s
2ol g

pu——

3cm

What will the area of the net be? [I] 1
jem?

Tost 16
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market stall.
h flavour th

. : ]t d
wours atd o
rent fle { pat

. e da

ons O
yortions
The chart below shows the proj

T : e correct option.
9. Why is the chart misleading? Circle th esold
A It doesn't show all of the flavours of Jarr.I o
It doesn’t show how many jars of each jam w
ti ly.
The scale doesn't increase evenly. | |
The jar narrows at the top, so the top section looks smaller than it shoy|q
The sections are not coloured to match the different jams.

m oo @

10. Jamie sells 90 jars of jam in total that da
Circle the correct answer,

A 36 B 40 C 45 D 81

y. How many of these were raspberry?

E 90

A phone company charges ¢ pence to make an international phone call
lasting m minutes, where C = 25 + om.

1. Marco spends half an ho

uron an internationg| call.
How much does it cost?

12. Carla spends 85p on an internatig

; . nal call ,
What time did her call start? that ends at20:02,

EI:] T
T(f‘a! 1;) a
3



you have 10 minutes to do this test. Work as quickly and accurately as you can.

Eve thinks of a number between 60 and 80 which is a multiple of both 4 and 9.

wWhat is the number?

santino has made 4.5 litres of fruit punch.

’)'

o

f"((’ 1
0

e

1 litre is approximately 1.8 pints.
Which of these is the best approximation of the number of
pints of punch Santino has made? Circle the correct option.

A 2 B 2, C 5 D 38 E 20

Santino serves the punch in 150 ml cups.

How many cups can he fill?

The third, fourth and fifth terms of a sequence are: -4, -7 and -10.

What was the first term of the sequence?

Which of the following is not equal to the others? Circle the correct option.

A Y036
B 10% of 270
C Y, of54
D 0.270 x 100
E 2,010

T hot tg he photocopiced 53 Test17




& Look at the equation below.

12345«»[ I=12.345"[ ]
| -

: ' OXES |
. < which cannot be written in the t N the Ordey Bive.,
Circle the pair of numbers which ¢ ty,

C 100 and 100 E 1ang 100

, 1300 and 1
A U 5 10and 100

B 100and 10

" The population of a town is thirty-two thousand five l,‘lutr_ldr:ej(; uf ?dugged to the
nearest hundred. Circle the largest number the populatio :

A 32500 B 32450 C 32550 D 32549 E 31549

8. The graph below can be used o convert between temperatures measured in
Fahrenheit (°F) and temperatures measured in Celsius (°C),

40
38

Fahrenheit °F

3001’2’“‘”‘?4“3

Celsius °C

Use the graph to find the difference in temperature between
36 °F and 40 °F, in degrees Celsius, to one decimal place,

OO

9. Adircle has a diameter of 0,1 m. What is it fadius? Circle the correct answe
A Tcm C 5em
B 2cm D 2mm

E 5mm

<17



10. A pie shop sells vegetable pies ang meat pies. The prices are shown below.

vegetable £1.50 meat £3.00

One day 50 pies are sold in total.

20 of these are vegetable pies and the rest are meat pies. ;
The shopkeeper records how much money is made from selling each type of pie.
He wants to show his results on 5 pie chart. What angle should he use for

the section representing the Mmoney made from selling vegetable pies?

(LT

11. Anetof a cube is drawn on 3 rectangular sheet of paper, as shown.

The whole sheet of paper has an area of 48 cm2.
What will be the volume of the cube made from the net?
L Jem

12. Look at the triangle shown on the right.
Circle the equation which is correct
for this triangle.

A 12y +20° = 180°

B 12y=360°
C 6y=90°
D 12y =200°
E 6y-10°=90°
C / 12)
© CGP — not to be photocopied 55 Test 17
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You h

Customers in

a pet shop were asked whether the
The partly filled table shows the results.

ick accurately as yqy,
ave 10 minutes to do this test. Work as quickly and Y as you ¢, ‘

i ¢
m i r prism have?
How many rectangular faces does a triangular p

y owned a cat or a dog.

cat | nocat| total
dog| 26
no dog 42
total| 57 100
2. How many customers didn’t gwn either a cator a dog?
3. What Percentage of customers owned a dog?
4. A point with coordinates (=1, =3) is reflected in the y-axis
Which of the points below has the sam i
YA
4..
Ce o B
2.
Ae
4 20 3T
-2 . E
®
-4
Circle the correct letter,
A B C
Test 18
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P

. Apiece of string is cut into four

\ pieces. The mean length of the pieces is 10 cm.
circle the option below which

does not give possible lengths of three of the pieces.
A 10cm, 10cm and 10 cm

10cm, 12 cm and 14 cm
1cm,2cmand 3 cm
7cm, 11 cm and 23 cm
13cm, 13 cmand 13 cm

m g N ®

6. Work out 4'/, — 3%,
Give your answer as a decimal,

I

7. The pictogram on the right shows the number ﬁ @ @ % ﬁ ﬁ # ﬁ 9 g #
adults (ﬁ) and children (5‘) at a sports match. '
Both symbols represent the same number e e ﬁ ﬁ ﬁ 9 @ # # 1
of people. There were 1250 more adults
than children.

What number does [J represent in the key? I l l l l

The shape below is a parallelogram.

2% X

not drawn accurately

What is the size of angle 1?7 Circle the correct answer.
A 3Q° B 45° C 60° D 90° E 120°

;
i Cry

P : v Tost 1
1 "otto he phaotocopied 57 018




: ' )cul)"" A eorves 4 ')(:()pl(".
fal Ning a large rice dish f(_)rg‘i(())[g of rice and serves 4 |
Adah is making a farge fic 06 32
\ at uses

. , w1
She is scaling up a recipt t

!
d for 30 people?
9. How much rice will she need for 3UP

B
'~ Lilaorams. I’\ ;
Give vour answer In kilogra . \I\

\\,i’r;g-
if only 24 people are served?
10. What percentage of the rice Wi Il be wasted if only
" Circ orrect answer.
Circle the ¢ - c 20% D 25% . B,
A 6% B 10

11. A square with a perimeter of 316 mm is cut in half alongsltsshgiiional.
The two halves are rearranged to form a parallelogram, -

not drawn accurately

Find the area of the paral lelogram.

12. A sequence is made of rectangles, as shown below,

— 9cm
— bcm
3cm
1cm 20’”[4 3cmL
Shape 1

Shape 2 Shape 3
}Nh}:ch of these eXpressiong describes the perime
In the sequence? Circle the Correct answer neterof the o shape
A nx3p -
B n+n4s ‘ S
D 3, 3 E 8

et 18




\OU ha

1

2.

“p

sk Ay ] 3

ve 10 minutes to do this test. Work

as quickly and accurately as you can.

What is 123456 rounded to the nearest 100?

)

The diagram below shows points Y and Z.

“ ABCD E
5- .
YT 1%
0 5 10

Point Y was reflected in a mirror line to give point Z.
Which mirror line, A, B, C, D or E, was this?

The seventh term of a sequence is 64.
Which of the following could not be the start of the sequence?

Circle the option which cannot show the sequence.

A 1,2,4,8,16,..
B 34,39, 44, 49, 54, ...
C 4,9, 16,25,36, ...

D 100, 94, 88, 82, 76, ...
E 8,17, 26,35, 44, ..

There are two prime numbers between 60 and 70.
What is the difference between them? :
59 Test 19
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rk. .
rough a pd e
Rose walks along a path tf'Irm:'}?un the start Of t
U Ve N & . ay T
The graph shows her journe)

Distance ]
along path i

0 Time

ath.
‘ m along the p
Rose stopped for 3/, minutes ata point 12 >

er.
_ : e correct answ
5. Which of these statements is true? Circle th

inutes.
A Rose stopped after 7 minu
Rose walked another 125 m after she stopped.

; inutes
C  Rose reached the end of the path after 11 mi .
D
E

Rose walked 225 m in total.
Rose walked for 5 minutes after she stopped.

6. Once at the end of the path, Rose walked back to the start of the path.
She took the same amount of time to walk back along the path as she
had taken to reach the end of it. She finished the whole walk at 13:07.

What time did she start? ] [ T

12 of these are 10p coins, '/, are 20p coins

Jay has 24 coins in a jar. 7/
and the rest are 50p coins.

8.  How much money does Jay haye in the jar?
| re

60 :




abbit race, Bugs covers 65 cm with every hop 1

na e track is 14.3 m long.

How many hops does Bugs take to complete the race?
Circle the correct option, .

2
A 2 B 3 C 22 D 200 E 220

j0. A carrot is_%ulsled along the race track to encourage Bugs to hop. It is pulled a
d;stancelof .hme,tgei every second. How long does it take for the carrot to be
pulled along the whole track? Round your answer to the nearest second.

[ Jsecona

11. 41=-3h=17.
What is /? ,

{4

il

12. There are three different paths on a cycle trail, each with a different level of ?’i
challenge. The pie chart below shows the number of cyclists who took each path, £

i

out of a total of 80 cyclists.

\, Hard

&
Medium

How many cyclists took the easy path? EI::}

Easy

“0p ()] T(‘St 19

T N0tto be phatocopied



) i ccurately as yoy ¢4
You have 10 minutes to do this test. Work as quickly and a yasy n.

i . She .
1. Deena had a negative amount of money in her bank account then pajq in

twenty-seven pounds, which made the amount of money in the account POsitiye
wenty-sev :

Which of the following could be the amou.ntS, inhDie()r:?:Clt)zr;’:igflcount
before and after she paid in the money? Circle the '

A -£5and +£32
—£7 and +£21
-£8 and +£19
-£9 and +£19
-£9 and +£17

m o0 w

2. Whatis the volume of the cuboid shown below?

[—————

6m

r'el
‘Tm“* 25m

|
'm

3. Five friends share 73 of a loaf of b

bl read equally,
What fraction of the whole loaf does €ach person 8et? Circle the correct answer
A B 3, 1
C /8 D ]/9 E '/15
4. The sum of the angles inside 4 regular
What is the size of e '

ach angle? tagon is 1000

<2

D T i )
Test 20 62 [—vl”" —""i”;\,af 1 ﬁ



ils in Year 6 were asked how many pet
pup Its are shown in the bar Chart)_/ pets they owned,

fhe resu

N
o

Number of pupils
o

o
1

Number of Pets

5. What fraction of the pupils owned at least three pets? Circle the correct answer.

A B C % D s E

6. How many pets are owned in total by the pupils in Year 62

&

Agiant bar of chocolate is 8 squares wide by 20 squares long, and costs £3.80.

T TR A SR AR e s

SN D L AT S R
A A B S i e e =

7. The bar is shared out between 9 people so each has the same number of squares.
How many squares are left over? D

. ice?
8. The bar is reduced in price by 15%. What is the reduced price? . — ._ E

63
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Four people record their heights. These are given below:

155m 125¢cm 1.7m 162 cm

9. What is their mean height, in metres?

.J ‘.._J___ J m

10. There are approximately 2.5 cm in 1 inch, and 12 inches in 1 foot.
What is the height of the shortest person in the group, in feet and inches,
using this approximation? Circle the correct answer.

A 3 feet 10 inches

4 feet 2 inches

5 feet

5 feet 2 inches

5 feet 10 inches

moNw

The square and rectangle below have the same area.

& b+5

11. Circle the expression below which does not represent this area.

A axa C & E 2b+5
B bib+5) D b5 +b)

12. bis a whole number,
If a =6 cm, what is b?

Tesy 2 o
o0 64 © CGP — not to be photocopss



wow for a break from 10-m;

—

[n a Pickle

owing

How much of each ingredient above will she have left over?

Riddle Me This

What's my name?

My first is one hundred to a Roman,
and my last is a line
Perpendicular to x on a grid.

My third looks like a shape with a circumference,
and My second the symbol for half its diameter.

My fourth is the first of an angle less than 90°,
N my fifth is the first of a quadrilateral you can fly.

{

8 sugar, 3 garlic cloves and approximately

Padma makes as much pickle as possible with what she has in the cupboard.

p

(o4
ThOt G e photocopied 63
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i curately as
You have 19 minutes to do this test. Work as quickly and ac Y @S you can,

, - ith 380. He subtracts 7 .
1. David makes a sequence of numbers starting with 3 > each timg
380 305 230 155...

What is the next number in the sequence?

ug

Jackson goes to the park for 2 hours.

2. Jackson spends 15% of his time playing on the szingS-
How many minutes does Jackson play on the swings for?

3. Jackson leaves the park at 15:48.

The clock shows the time that he arrives back at his house that afternoon.

How many minutes does it take Jackson to get home?

4. Leina eats '/, of a cake. Jonathan eats 2/5 of the same cake.
What fraction of the cake have they eaten in total? Circle the correct option.

A 3/9 B 6/9 C 2/ 20 D 7/ 20 E l 3/ 20

Test 21 66
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chooses two of the C
hC“v ards Sh()\av
n beIOW

*J17][s]

iplies the numl
ghe multip mbers on her twg
She rounds the restlt to the nearegt 10. L}:r:rs G .
which two cards did Kelly chogse? Circle thzncs:;/rer li 50.
rect option.

A 5and9 C 7andg
B 5and11 D E

ther and then subtracts 7.

Y asked the pupils at his school jf they
ke football, tennis and swimming, football
He recorded the number of people who
ixe each sport in a Venn diagram,

tennis

swimming

6. How many of the pupils like tennis?

7. How many of the pupils don’t like football?

8. Benji is at an ice cream parlour. The menu is shown below.

Menu
2 scoops of ice cream %gg i
Additional scoops £0.90 eac
Toppings
(sprinkles, sauce, marshmallows) £0.55 each

Benji has £7.40 to spend. .
He buys 4 scoops of ice cream with sprinkles and m

How much money does Benji have left? £ U [ [

Test 21

arshmallows.
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10. Callie is facing North (N)

11.

12.

Test 21

a race.

ance of 10 km every hour,

X in istan
Skyla and Paloma take part and covers @ dIStistance of 12 km every hoyr

L0

e
Skyla runs at a constant Stp ge ced and covers minutes?
Paloma runs at a constan ‘p, has Paloma ru

How much further than Skyl

She makes the following turns.

e 135° anti-clockwise.
o 45° clockwise.

Circle the direction that Callie is now facing.
A NE cC W E S
B NW D SE

Claire has 5 different right-angled triangles.
Which of her triangles is the tallest? Circle the correct option.

A Atriangle with a base of 6 cm and an area of 21 cmz2.
B Atriangle with a base of 5 cm and an area of 20 cm?,
C Atriangle with a base of 3 cm and an area of 15 cm2.
D Atriangle with a base of 8 cm and an area of § cm?,

E  Atriangle with a base of 4 cm and an area of 12 cmz2.

This diagram shows the angles of
each sector in a circle.
What is the value of g?

a’ 24°

2a° 1200

68
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¢ .-u have 10 minutes to do this test. Waork s quickly and
0

accurately as you can.

gharon buys five items in a shop. Which of the

_ i following shows the prices
1 order of size, starting from the smallest? Circ

le the correct option.

45p £4.50 £4.05 £0.54 £5.40
45p £0.54 £4.05 £4.50 £5.40
£0.54 45p £4.05 £4.50 f£5.40
45p £0.54 £4.05 £540 £4.50
£0.54 45p £5.40 £4.05 f£4.50

a2 B o B o W -~ T

1. Brenda has a piece of ribbon that is 1 m long. She cuts off 4 cm of ribbon.

She then cuts the remaining piece of ribbon into 8 equal lengths.
How long is each of these 8 equal lengths?
L Jem

3. Kian is sorting some numbers into a table.

Even Odd

Multiple of 9
Multiple of 7

T e e

Circle the group of numbers below that would be sorted into the grey box.

A 21,42, 49 C 21,35,77 E 18,45, 81 {
B 27,45, 81 D 14,42,54 %;;;
L Circle the fraction below that is bigger than %s.
A ]3/20 C 6/10 E 8/]5
B D %
Lee

Gp Test 22
ot to be photocopied 69




: - ic toy cars.
Tamwar is measuring 2 of his toy

: T
quvvti’i?"l!!;' |

i lell‘ i

i swer in mm.
How much bigger is Car A than Car B? Give your an

, Line y
Hazel draws the shape to the right.

She reflects the shape in Line Y. '—:II

Which of the following shows her new shape?

Circle the correct option.

A | C E !
I S | /) *,

SRSRENERGS

Tahlia records the eye coloyr of 72 pupils in Year 6
6 pupils have hazel eyes. .

Circle the number of pupils that have

green eyes,
A 9
B 12
C 15
D 18
E 21

70




mice has a jar containing 500

che )
g. 17% of the jelly beans are blue. The rest of th

HoW much do the green jelly beans weigh?

g of jelly beans. 23% of the jelly beans are red.
e jelly beans are green.

L

Juaﬂ“a buys m packs of stickers. Sanjit buys 4 more packs of stickers than Juanita.
g Circle the expression which shows how many packs of stickers they bought in total.

A m+4 B 5m C 2m+4 D 2(m+4) E 4m+2

0. They bought 16 packs of stickers in total.
How many packs of stickers did Sanijit buy?

L]

~ agroup of five children are selling homemade lemonade.
 The pictogram shows how many cups of lemonade each child has sold.

senson | < OO key: C > = 4 cups
caten [ IO
Bela | 2O

cavor OO

f 1. Each cup sold contains 220 ml of lemonade.
How many more litres has Carlton sold than Casey?

T e

2. The ingredients for the lemonade cost £1 5.90.
The children sell each cup of lemonade for £1.20.
How much profit have the children made in total?

L |

/12

E M
; k)
- L e

L -
1ot 1y be photocopied 71




You have 10 minutes to do this test. Work as quickly and accurately as you cap,

1. 1100 x = 3640
What is the missing value? Circle the correct option.
A 364 B 36.4 C 3.64 D 364000 E 364

]

The contents page of a book is shown below. It shows what page each chapter

in the book starts on. The book is 227 pages long. —
Which is the longest chapter? Circle the correct option. Contents

hapter 1..........
A Chapter 1 Chapter 1 A
Chapter 2.......... 31

B Chapter 2

C Chapter3 Chapter 3......... 76
D Chapter 4 Chapter 4........134
E Chapter 5 Chapter 5........ 185

Some of the angles in the diagram below have been labelled.
3. Which angles are acute?
Circle the correct option. <3
A Angle d, Angle fand Angle g
Angle e, Angle fand Angle A
Angle d and Angle g
Angle d and Angle f
Angle f, Angle g and Angle A

m OO0 ™

4. Angle gis 46° What is the size of Angle h?

=

5 john and Robyn walk together across the playground.
For every 2 steps that John takes, Robyn takes 3 steps.
If john takes 54 steps, how many steps does Robyn take?

72 © CGP — not to be P
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e timeline below shows what time Giovanna e

-

ey
A

apack ot b beef burgers costs £4.00.
a pack ot 5 lamb burgers costs £3.00.
How much more does one beef burge

Breakfast Lunch

r cost than one lamb burger?

‘V 1
AR l-__J

ats her meals each day.

Dinner

[TH“HHH“H‘HT Hlllll“ﬂ}lﬂ‘lﬂ]

8am 10am 12pm 2pm

6pm

Giovanna goes to the park 1 hour and 20 minutes before she has lunch.

What time does she go to the park?

L o

Giovanna takes 25 minutes to eat her lunch. She then watches a film for
1 hour and 30 minutes and then does some painting for 1 hour and 55 minutes.
When she finishes painting, how long does she have to wait until dinner time?

D hour(s) @ mins

The diagram below shows the coordinates of each corner of a rectangle.

Which of the following points

'VT
\(*v‘ill be inside the rectangle?
Jdrcle 1
Cle the correct option. (60, 20) (20, 20)
A (<65, -32) .
B (117, 36) - . '
C 03,3
D (18,30 (-60,=30 o
E (41 ¢ '

0O be photuc()}“ﬁ‘d 7
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- that is halfway between 342 ¢ and 1,
3,

mbe
10. Use estimation to work out the nu

Circle the correct option.

A 736.2
B 783.7
C 868.2
D 3899.2
E 9225

The bar chart shows the number of points competitors scored in a sports Compeﬁtiom

124

10 |

Number of
competitors
H OO

, ! 7 __>
40-49 ' 50-59' 60-69 70-79 80-89
Number of points

N
i

o

11. The mean number of points scored by each competitor was 63.3.
What was the total of all the points scored by the competitors?

LT

12. What might have been the number of points scored by the person
who came in 15" place? Circle the correct option.

A 59
B 85
C 76
D 69
E 42



K i "“.," . ' <.
3 gl
‘.v‘k -
-

b pave 10 minutes to do this tegt Work as Quickly
0

\ and accurately as you can.
How many numbers between 10 and 20 are factors of 36?

[

hich of the following pajrg numb :
\grcle the correct optign. ers have a difference of 0.372

A 1.24and 1.66 C

1.0 and 4.7 E
B 0.31and0.38

9.22 and 9.58
D 4381 ang 5.18

cliza is making cornflake cakes.
The ingredients for making 18 cornflake cakes are shown below.

Ingredients
To make 18 cakes.
75 g butter

150 g chocolate

4.5 tbsp golden syrup
150 g cornflakes

Eliza only has 50 g of butter.

3. How many grams of chocolate will she need to use?

L e

4. How many cakes can Eliza make?

L

Test 24
€ CGP — not to be photocopied 75



8.

Ti-‘f.wi .?4

s is describing a tvpe jadrilateral. .
lzt(}):a_lsad;;itrn({))f'zzjatl\;i({r:!flgtsides which are a difterent length to another
pair of equal parallel sides.
Half of its angles are acute
What shape is Zoe describing? Circle the corr
square
rhombus

and the other half are obtuse.

ect option.
A parallelogram C E trapezium

B rectangle D

Whatis 2% + 32+ 33 + 5%

Callum is making a dice fr
Which net must he use? Circle the correct option.

om a net. Opposite sides of a dice addupto 7.

214 214 116 113 113
516 315 315 516 512
3 1 4 4 6
1 6 2 2 4
A B C D E
The kite on the right is enlarged by a scale factor of 2.5
What is the perimeter of the enlarged kite? ‘
Circle the correct answer.
A 52cm
B 13cm
C 1625cm
D 32.5cm
E 39am ;
not drawn accurate
76 € CGP — not to be phohm’P"



A

;inema shows ‘A Dog’s Life’ onc
jhe 1able below shows the numbe
i

—

€ a day for 4 week.
r of tickets sold on e

ach weekday.

P Ticket Monday Tuesday Wednesday Thursday | Friday
Adult 19 28 X 13 33
Child 47 '
é_r;”y 54 30 16 37

a

(2 adults and 2 children) 7 26 9 3 11

0. Allthe adults who had a ticket saw the film.

How many more adults saw the fiim on Friday than saw it on Monday?

L]

£6 and family tickets are £25.
ke from ‘A Dog’s Life’ tickets on Thursday?

L ]

. The pie chart shows sales of the different types of cinema tickets for one day.

10. Adult tickets are £10, child tickets are
How much money did the cinema ma

child

Which day does the pie chart show? Circle the correct option.

A Monday C Wednesday E Friday
B Tuesday D Thursday
2 May)
- ariey writes an expression. o
When x = 7 and y .—=p3, the value of the faxpressllon is 84.
Circle Marley’s expression from the options below. N
E b5xy-
A 6x+ 12y C 4y 1
B 7x+vl+]5 D x2+4y~xy
Test 24
Gp ™~ ot 10 be 77
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You have 10 minutes to do this test. Work as quickly and accurately as yoy can.

Kim has 560 beads for making necklaces.
1. Kim divides the beads into 7 equal piles. How many beads are in each pile?

0T
L

2. Kim puts 50 beads on some string. Each bead is 13 mm long.
What is the total length of beads?

3. Angelee makes the shape on the right from 9 cubes.
She paints spots on the side faces of the shape
and leaves the top and bottom faces blank.
She then separates the shape back into 9 cubes.

How many cubes have exactly two spotted faces?

4. A shape has been draw onto the grid below.
One of the corners of the shape has been labelled with a cross.
The shape is reflected in the y-axis.
What are the new coordinates of the labelled corner?

1] AENNEREN
-ty T T‘ et , ‘r—b" |
B 6 2 4 6 8~ (DC)
|
‘Opl("
Bistias 78 © CGP — not to be PO






' every day.
Dulcie aims to drink at least 2 litres of water Y

9.

10.

11.

12.

25

» water.
So far today, Dulcie has drunk 460 ml(l)f WAt Dulcie drunk?
What percentage of her target water voiu

\\‘
&;.’
0y

0 ml of water,
Dulcie uses the same glass all day. The glass holds 29 ater

he needs to drink thrg,
What is the minimum number of glasses thatrzct option. ghout the
whole day to meet her target? Circle the cor )
A 5 C 8 &
B 7 D 10

Martha is weighing some of her toys.

The teddy and the car weigh the same as the jack-in-the-box.

The toys weigh 894 g in total. The car weighs 182 g.
D-mkg

How many kilograms does the teddy weigh?
in place of x. His answer is 44.

e the correct option.
E 18

Manoj thinks of a number.

He puts the number into the formula 2(x2 - 14)
What number is Manoj thinking of? Circ|

A 4 C o9
B 6 D 10

&

opitd
80 © CGP — not to be photocopie®




\ow for @ break from 10-minute tests. Try out your skills on this puzzle.

“percy’s Picture Puzzle

percy needs some help putting a picture of his pet back together.

fach piece of the puzzle contains a maths
Help Percy put the picture back together b
contains the correct answer and drawing i

problem and part of the picture.
y finding the box in the grid which
n the correct part of the picture.

677 316 27 1231
g
| 58 12 8 -18
3 934 - 257
) 66 540 81 2.5
79x 4 7 + 18] 163 1 7 36
N K(« 54 x 10 1 6’
/]
| Q
2 , /
2ewm] fosrra] [ [oxn
24-42] [356+ 875 %\ Q 96 - 38
.‘ \L S.\
.}Q 10+4| |56+8 /
i B Yi¢ 81 Pussbes 5

e T —

R . A b AT b, it 4.

Frtaser 14

e R ST



You have 10 minutes to do this test. Work as quickly and accurately as you can.

1. Taz receives a cheque for seven hundred and four thousand, three
hundred and five pounds and eight pence.

Write this amount in figures. £[ I I I_:[ l I ][Ij

2. The first five terms in a sequence are: 2, 5, 8, 11 and 14.

What is the 10™ term?

3. Louis asks the people coming to his party if they are vegetarians,
vegans or neither. He makes a pie chart to show the results.

egetarian
L

If there are 6 vegetarians coming to the party,
how many guests are coming in total?

)

4. Owen makes the following table to show how many books
of each different type he has on his bookshelf.

Fantasy Sci-Fi History Other
7 5 2 1

What fraction of Owen’s books are fantasy or sci-fiz Circle the correct answer.

1
A e B C D 1, E 2%

Test 26
82 © CGP — not to be photocopiex



A square has an area of 9

cm?2, e
8. Cnr(*]e the correct Option, hat IS its Perimeter?
3cm
. 12 cm 225 ~m
B D 30 E 36cm

an equilateral triangle s shown beloy,

what is the size of angle z2 Circle the correct option

A 307 C 120°

. E Impossible to tell
B 60 D 300° i

A shape is made on a grid from a
rectangle and 4 triangles, as shown.

7. How many lines of symmetry does the shape have? D

8. Circle the statement below which is false.

A  The ratio of the total area of the triangles to the area of the rectangle is 2:3.
The rectangle takes up 60% of the total area of the shape.

The area of one triangle is '/, of the area of the rectangle.

The area of the rectangle is the same as the total area of 3 triangles.

The area of one triangle is 10% of the total area of the shape.

moOa®

£ Test 26
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9. An oven has a width of 76 cm, rounded to the nearest whole centimetre.
It is fitted into a space with a width of 77.5 cm, mundt‘;d.;)? one decim| Place
Circle the option which correctly gives the smallest possible oven widip, and 'f;e

smallest possible space width.

Smallest possible oven width Smallest possible space ;ﬁﬁ,:
A 75.5 cm 77.55 cm
B 75.49 cm 77.49 cm D
C 75.5 cm 77.45 cm ]
D 76.5 cm 77.55 cm T
E 75.49 cm 77.45cm T

A group of seven friends make and sell knitted scarves at a market stall.
Each scarf is made from one and a half balls of wool. Each ball of wool costs £2.60.

10. The group sells 30 scarves for a total of £189.
How much profit do they make in total by selling 30 scarves?

11. At closing time one day, the friends are left with £150 to split equally amongst

Circle the correct answer.
A £2000 B £2043 C £2100 D £2140 E £214

12. | n<5+4x3

n is a square number.

£,

v

themselves. How much does each friend get, rounded down to the nearest penny?

)]

What is the largest number that n could be? @'

84 © CGP ~ not to be photex
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e 10 minutes to do this test. Work as qu;
g k as quickly and accurately as you can

b b ( ).

S
The wind blows the arrow 270° anticlockwise.
\Which direction (N, E, S or W) is it now pointing to?

1 Mike’s cousins have a mean age of 8, and a total age of 40.
How many cousins does Mike have?

Kaitlyn buys a bottle of a fizzy drink, shown on the right.
The label on the bottle is torn so it does

not give the units for the volume in the bottle.

What are the units most likely to be?

Circle the correct option.

A grams c millilitres E litres
B kilograms D millimetres

nd eight 10 pence pieces.

: jeces a :
her purse, Dora has twelve 20 pence pre- and !/, of the 10 pence pIeces.

She gives her nephew '/3 of the 20 pence pieces

2
How much money has Dora given her nephe £D Uj

Tost 27



: e numbers?
5. How many factors of 60 are prime nu

6. Lola has 3%, packs of chocolate buttons;]S
She eats /s of a pack of chocolate but;o Y
How many packs of buttons does she ha -

Circle the correct option.

A 2%,
B 2%
Cc 3%,
D 3%
E 3'14

The pictogram below shows the number of different types of tree in a wood.

=4
v
O Q@ & Key:=25trees

ash elm fir oak

7. How many more ash trees are there than elm trees?

8. What fraction of the trees are fir trees?
Circle the correct answer.

A 3
B %
c
D
E

Test 27 86 © CGP — not to be photm'oh



.r shape has x sides. One sjde

guld Measures 5 c,

A€,

1 are ion bel i i :

{ v circle the expression below which gives the Perimeter of the shape.
A &t 5) em C &+5)cm E  5xcm
8 (x—5)cm D G+xcm

meer of identical books are to be stacked upright inside boxes, as shown below.

: 45 cm

box 150 mm  not drawn accurately

v 36 cm o, 120 mm
60 cm 15 mm

0. What is the maximum number of books that can be placed in one box?
i,

L

I There are 1200 books in total. How many books will be left over

if as many boxes as possible are completely filled with books?

I . .

5 L The n" term in a sequence is /x(n + 1). -,
Which term in the sequence has the value 57
Circle the correct answer.

A 3,,; B 5th

th
C 8' h D ()th E 1 O

» 87
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_— tely as you ¢
. L]y and accura an.
You have 10 minutes to do this test Work as quickly
C <

srC i S-
1. An office has 7 boxes of 200 paper clip

. in total?

Noah wants to save up £50 to buy his mum a new handbag for her birthday.

does he need to save?

L (0

2. So far Noah has saved £16.35. How much more money

3. When Noah goes to buy the bag, it is on sale with 25% off.
By how much is the bag’s price reduced in the sale?

L L

4. Each of the shapes below is a regular shape with a side length of 2 cm
What is the mean perimeter of the four shapes? .
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/ b chart below, showing the breakf
»u\ . .

i ast choice :
¢ T issing its frequency scale, ces of hote
> P L AR

| guests,
I

Frequency

cereal toast fryjt eggs patries
Breakfast Option

\hich of the following could be the frequencies of the five options?
Circle the correct list.

A 9,45 2and1 C

18,12,9,6and 3 E
g 18,8, 9,4 and 1

45,20, 25,10and 5
D 36,16, 18, 8 and 4

;. The diagram below shows a parallelogram and a rectangle.
They lie next to each other on a straight line.
What is the size of angle a?

63° 17° ]

1 il

. Atacafe, Amy pays £4.50 for one coffee and one cake,
and Belle pays £6.25 for two coffees and one cake.
How much will Kate pay for two cakes?

L

, : dra.
" Abdul has one third of a full melon. He gives o?ne quarter of his melon to Kendra
W.hat fraction of a full melon does Kendra have!
Circle the correct option.

E Y
A 1/12 C 1/7 <
BV, D

di lL’St 28
-..(;p
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¢ . o _ , :
). The table shows the finishing times, in seconds, of five swimmers in a race,

Swimmer | Jay Kim Li Mei Noa
Time (s) | 31.26 29.98 30.04 32.01 30.76
How much faster was the winner than the person in second place?

mEEy!

Four of the lettered points on the grid below form the vertices of a parallelogram,

A

1Be Ee oG
s A.

— >
0 1234 5«x

L i
O
®
&
°

10. Which four letters are the vertices of the parallelogram?
Circle the correct combination.

A A B CandD C CDEandF E CD FandG
B B,C FandG D B,CEandF

11. Each square on the grid has a width of 0.5 cm.
Find the area of the parallelogram in cm?.

12. Ollie walks at a rate of w miles per hour.
He wants to walk to the bakery, */,w miles away from his house.
How many minutes will it take Ollie to walk to the bakery and back home again’

)

- ‘d
G ~4 { . I}
jest 28 90 © CGP — not to be pho[()( ope







- Demcnge
below is made from twO triangles.
The area of each triangle is 14 cm". What is the . width of the rectangle?

4 cm

6. There are 8 bits in a byte, and 1024 bytes ina kilobyte: sy
How many bits are in a kilobyte? f |

vote on whether they wanted to play games on the
ameslwwn in the pie chart below.




o has £72.00. Elizabeth has £22.50.

Alic 2
Il has less than “/3 of the amount that Alice has

has more than double the amount that Elizabeth has

She aISO
circle the amount of money that Ella could have.
A £35.20 C  £46.50 E  £55.30
g £44.90 D £49.70 '
0 samantha makes a hexagonal prism from the
net shown on the right.
Circle the corner which joins to corner M. Vv
A CornerV
g Corner W
w
¢ Corner X
p CornerY
E ComerZ

11. 49 000 passes were sold for a festival that takes place over a weekend.

65% of the passes sold were 1-day passes.
35% of the passes sold were 2-day passes.

How many 2-day passes Were sold?

2. Amixing bowl has a mass of 90 g. Flourisa

with each spoonful having a mass

of the bowl and f spoonfuls of flour? Circle the correct expression.

A 100f

B 10+ 90

C 10f-90

D 90+10+f
E 907+ 10

93

P
i not to be photocopied

dded to the bowl by the spoonful,
of 10 g. What is the combined mass, in grams,

b

)

)

3

L
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You have 10 minutes to do this test. Work as quickly and accurately as you cap,

1. Whatis 10 more than —-8?

ack of six apples.

Lenka has some bunches of grapes and a p
g. The pack of apples weighs 700 g.

Together the apples and grapes weigh 1.8 k

2. What do the grapes weigh?

Give your answer in kilograms.
I,

3. Lenka eats one apple with a mass of 105 g.

What is the mean mass of the apples that are left?
L

A shop sells a 2 litre container of milk for 97p. Tim buys 14 litres of milk.

How much does this cost him?
L L

The diagram below shows a square joined to one side of a regular pentagon.

The pentagon has a perimeter of 35 cm. What is the area of the square?

[T :13 o

st

O e
Test 30 94 © CGP — not to be phntm %



You have 10 minutes to do this test. Work

1.

Lenka has some bunches of grapes and a pack
Together the apples and grapes weigh 1.8 kg. T

e

The pentagon has a perimeter of 35 cm. What is the area of the square?

as (luit‘lxl\ and accurately as you can

What is 10 more than —8? m

of six apples.
he pack of apples weighs 700 g.

What do the grapes weigh?

Give your answer in kilograms.
L{ g

Lenka eats one apple with a mass of 105 g.

What is the mean mass of the apples that are left?
L1,

A shop sells a 2 litre container of milk for 97p. Tim buys 14 litres of milk.

How much does this cost him?
|

The diagram below shows a square joined to one side of a regular pentagon.

ed Ay
94 © CGP — not to be photoc®?” j'



Nor
a run .
S a Craft worksh()p for children.

to the workshop each day

B This year
Last year

)

Tuesday is the busiest day this year

This year, half as many children Ccame on

Last year, Monday was three times busier
There were 50%

Monday as on Tuesday.
than Thursday.

fewer chi
ere were m . r chll.dren on Wednesday this year than last year.
ore children in total this year than last year.

m o0 = P

rarmer Grey only has pigs and cows on his farm.

g. Farmer Grey counts his animals and finds there are 10 more pigs than cows,
and 58 animals in total. Circle the number of pigs from the options below.

A 20 C 30 E 48
B 24 D 34

9. Farmer Grey counts the animals a few months later.
The number of pigs has doubled.
The number of cows has increased by /5.
How many more pigs are there than cows now? ( I J

¢CCGP — not to be photocopied 95 fest.



10. Find the value of a in the diagram below.

20 N165°

24°

anew TV. 5 shops have the same TV on sale.

11. Jani / ! i
Janice wants to buy h shop are shown in the table below

The original price and discount at eac

Circle the shop where Janice can ~ Shop Price jm
buy a TV for the cheapest price. TV World £2000 Wog?:.‘
A TV World Telly City £1800 m
B Telly City Digi-District £1600 w
C Digi-District Technoland | £2100 | 7.5~
D Technoland Electromarket| £1500 | g£ggop—
E  Electromarket
12. The Translator translates a point with given coordinates by a certain
number of units horizontally and vertically, as shown below.
In Out
(1,1) — > (4,-1)
(-2, 7) —| Translator » (1, 5)
(x,y) — > (2.7)
When the point (x, y) goes into the translator, what point comes out?
Circle the correct answer.
A (4x, -y C (x+3,-) E (x-3,y+2
B (4x,y-2) D (x+3,y-2) C
/12 |
{Of‘x'e:

Test 30 96 © CGP — not to be pho



1 kg ©

I oW much does she pay?

h below shows how the temperature inside

e 2P i
three Jer changes after it has been switched on

19)
[

I . 5 * Time (mins)

freezer (°C)
Q

|
)
e

Temperature inside

after how long does the temperature reach 0 °C?
circle the correct option. :

A 8 mins 30 secs C 9 mins 30 secs E 10 mins 30 secs
B 9 mins D 10 mins

1. To the nearest °C, how much has the temperature decreased
over the 16 minutes shown?

L e

4 Adiagram of a cube and a cuboid are shown below.
The cube and cuboid have the same volume.
What is the height of the cuboid?

2 ch

““LP— not to be photocopied 97



equence is half of the previgyg ter

.7y i e S i
5. Asequence starts at 32. Each term in th Jve a value that is not a whole ”Um.h
Cr2

Which term in the sequence is the first to h
Circle the correct option.

h
A g B 5 c 6" b7 E

gn

6. Jakub arranges 6 candles along the length of a shelf.
Each candle has a diameter of 38 mm. _
There is a 15 mm space between neighbouring ¢

ndles.

How long is the shelf in mm?

A florist has 300 bouquets of roses. 20% are pink bouquets, 60% are red bouquets,
15 are white bouquets and the rest are yellow bouquets.

7. How many of the bouquets are yellow?

L
L

8. Each bouquet has 12 roses.
How many pink and white roses are there in total?

9. What is 685 in Roman numerals? Circle the correct option.

A CDLXXV C DCLXXXHI E DCLXXXV
B DCXIIWV D LXXXDcCcvV
Test 31 98 © CGP — not to be photoc@






ills on these ;
Now for a break from 10-minute tests. Try out your skills © puzzies,

—

Funny Money

In Clown Town, different items are used instead of mone

& o

y to buy things,

The exchange rate for these items
is shown on the right.

Daisy is visiting Clown Town. tnose=£1  1flower=£250  Thom=ggg,
She goes to the bank to exchange | o
her holiday money (£100) for the items she can spend. o

: - Ok
Daisy only has a small bag, so wants as few items a5 possible. O’

What should the bank give Daisy in exchange for her £100?

Painting By Numbers

One corner of the grid below contains numbers. If the number in a box is either
square, cube or prime, then shade the box. Otherwise leave it unshaded.

6 {14]18}24]|32}| 3 |35|28} 8 |20

15110{40}45] 4 |21} 2 [46}52| 7

34148} 12|16} 51}30}|54]17 |38

9
50113 }23|56}22}27|57|58] 5|1 x
2013314215519 ]139|25}|44]26] 1 I

i

To complete the pattern, shade boxes throughout the whole grid so that the
dotted lines are lines of symmetry for the whole pattern.

e

Puzzies 6 100 © CGP — not to be photodaf



i lumns — the
digits in the ones coun
Aro® ot :r;(z:h ?our of the dmatlances hf:zé gx:xt
grfawﬁ % 4;1;, itsinthe tenths coumns % ihes
- pmpare the quawst i 3,in Adam hs ar; s
Astances. . are the digits in the %n[ rCh e
i P 25 In Adam’ and a 2 in Chos, s

ﬂ;g;gbdistanw o
4020 mmm. 1 m=1000mm,

2. 02 "
Emmglé":ﬁ}gg « 1000 mm = 4020 mm,
go4UCM="0

Ly 51 COmpare

bigger than 9C° but less than 180",

2
ngles aré e in one of the new shapes.

3-
e otust ard

ﬂCUw:‘ obtuse

£146.53
A«ldd the amounts using
4390
2762
+75.00
14653

11

10 .
Tsh'e meafx‘ls the total of the prices divided by the

ces (). Add the prices in chunks:
e ) 204 E1 05 £0.45
1+£1.15=2£2.15,
?ot;h £2+£245+£215= 56.60.
Mean = £6.060 - 6. Break £6.60 into £6 + 60p,
£6-6=£1,60p+6=10p.
50£660+6=£1+10p=£1.10.

6. 480g

10%0f 400 =400+ 10=404.
20%=2x10%=2x40=80g4,

50 the mass of the special offer pack =
400+80=4804,

7. C

Both years start MCM, 50 look at the last part of each:
L=50,X=10,V=5,1=1

Film A: LXXV = 75, Film B; LXXXIV = 84
%0 Fiim Bwas made 84 - 75 = 9 years after Film A,

8. B

Farm = 70", 200 = 90 Total=70°+ 90" = 160°

"'5.3 fraction of the whole circle, this is 160/360.
/«'éj fumerator and denominator by 10 and then by

& F e w/a@ =Y,

% 18

Tre Bowing %€CLionis 120° This |
; - This |
Grile (34) 24 Children

the column method,

5i5 '/ 0f the fl
5 a;C represented by 120°
Lok 1 =72 children in tot 4| (us
Parlitiaring) "/ : : use
Wire zooanhas ;;O;Zthf Zhnldren ey warited to #®

=18 children.
0. 645 py

17, e
“v 5 down o1, s i
it //"3(/,%6() ¥ // b(JXT:=é)()and

oy x1', [
‘7’:: 5> Thour 4 3, mmff Mins =60 + 30 = 90 mins.

+9
‘ 0ur = ¢, 15, 616

! n
M6xpD2E1 ’ 7430 mins = .45

[ -

ongest and Cho's I second longest.

Area =

1 X
/5% base x hej
ght = Y x4
1 2. D ¥ X 3 L 6 me'
Angles in a quadrilate

| add .
50360 = x4 104 o0 2d o 3500
Subtract 30 fr, 2X+x+20) X

TESt2-- a |
1. Pages 5.7

First term = 100
term=96-4=9’§?wndterm= 100-4.

%3 5 £4.35

reaks down Into 10 _
3x5= 15p, S0 15px5+_~_3'" 10x5 250
£5=5000. 65p = 60p 4 B 09

3. 56900

You're rounding to the negr, t
column has an 8 in 56 8556;.5 bl
right of this, It's 4
togive 56 900,

el

5. D
204015 10 times bigger than 204, 50 2040 x 7001
is 10 times bigger than 204 x 7001.
502040 x 7001 = 14 282 040,

7.001 i 1000 times smaller than 7001,

50 2040 x 7.001 is 1000 times smaller than
2040 x 7001. So the decimal point is moved 3
totheleft: 2040 x 7.001 = 14 282 04,

6 B

The sports section for Holly starts at 16% and ends at
E8% 88-16=72%

7. 45 mins

Reading from the graph, Max epent 30% of the time
doing drama. 2/, hours = 60 + 60 + 30 = 150 ming.
10% of 150 = 150 + 10 = 15 mins, 30% = 3 x 10%
50 30% of 150 ming = 3 x 15 = 4% mins,

8. 1600 cm?

12m=120¢m,

So the side length of one slab = 120 + 3 = 40 cm,
Area of one slab = 40 x 40 = 1600 ¢m’.

9. 60

3 slabo make a 1.2 m long path, so find out how many
lov< of 1.2 myou need to make 24 m.
12x10=12,9012x20=24m, .
9020 lots of 3 slabo are needed = 20 x 3= 60 ¢labs,

places

©CGP 2017

3
25x B xH=25x40=1000cm’
1000 +« 4 = 250 cm’®

250 cm

" s

jume of ploc ol

Y/O,,af 1000 cm” =

54° 760.

nd a point add up to 260",

S0, d + ;r;li 2ﬂ+p90°=!5a+90 = 360°,
50,

o 00 = 270"
S ok o e
a=

11.
Angles

12. E in each expression:
S A e A x 6 = 24

g l1t§f(’: E)‘] ']x)(."- 1/2(4 + (1 1x 4)) = 1/2(4 + 44)

o' 5 5 =24 ,

C 21(1‘8)2(43(4)4‘5=16+8=424

D B(c-1)=8(4-1)=8x3=2 )
Br45=(Bx4)+5=20+5=2 .
E‘is the only expression that doesn't give 24 whenx =

Test 3 — pages 8-10

C .
,l'reg“’ar quadrilateral has 4 equal sides and 4 equal

angles. B, C and D are all quadrilaterals, but only C has
equal sides and angles.

days »
f\;?ril e30 ) ays, 50 Apri 29th to April 30this 1 day

Then there are 4 days until May 4th. 1+ 4 = 5 days.
3. D

Half past three in the afternoon = 15.30 .
Read off the graph at this time — it is 16 °C.

Temperature 1

00 900 1200 1500 1800 2100
Time
4. 3:5
Red pens in a pack . blue pens in a gack =12:20
Dlvlzﬁng both numbers by 4 gives 3 : 5,
5. 660

Number of red pens = 40 x 12,
4x12=48,5040x 12 =480
Number of blue pens = 9 x 20,
9%x2=18,509%20=180
Total number of pens = 480 + 180 = 660 (add on 160
by adding on 200 and subtracting 20)

6. 105
Mila has 3 circles: 3 x 40 = 120 cards,
/a0t acircle represents 40 + 4 10 cards,
Nadim has 2/, circles: 40 + 40 + 10 =90 cards.
Mila and Nadim have 1204+ 90=210ntotal, They now
have the same numper of cards each, 50 Mila has
210+ 2 =105 cards (break up 210 Into 200 + 10).

7. 100
1:hc total number of circles s 9+ '/; + s Ya= 10
90 total umber of cards = 10 x 40 = 400

Dwide this by the number of children to get the mean:
400 + 4 = 100 ‘

9. 32 km
wubstitute 20 for i in formula k= (& x 20) . 5
=160+5.3p (use short divis ton),

M6XPD2E1

9. D . N
AV of60=60+10=6 807 ,0f0=B3xGa 18
B 10%0f 180 = 180« 10 =18 *
C40f 24228426 060",0f24=Bx6=18
D 018 x 1000 = 180 — this one 15 dtferent
E: 10% of 3600 = 360 « 10 = 36

805%0f 300« 36 - 2= 16

0. 10ml
’}'hc number of pancakes she makes s 5800 + 45
You can use lona dwision £o find this
120010

45860

_,i 5

130
-135
10

The remainder is 10, 60 che makes 130 pancakes with
10 ml of batter left over

11. B

Line CD ts paraliel to AB s¢ must be horizortal Therefore
the y-coordinates of C and D must be the same Thia
rules out options A, D and E '

The difference i the x cocrdinates of line AB anes ita
length. 50 ABis 8 - 2 = 6 umits long Line (D 1 huatf this
length, so it must be 6 - 2 = 3 units long

The difference in the x-cocrdinates of (, and D in aption B
t65~2 =3 500ption Bis correct

12. B

When reflected in the x axis, the y-coordinate of A
becomes negative, 50 A has coordinates (2. -0)
Translating it 1 unit left chanaes the x-coordinate to
2-1=1 Sothenew coordinates are (1.-0)

Test 4 — pages 11-13
1. D

The number of tulips must be 3 areater than 2 multiple
of 7 59-3 =56 whichisa muitipie of 7 (8 x 7 = 55)

2. =13 °C
Add5°Ctothe Lemperature innide the freezer
-18+5=-13°C.

3. B
The net folds to form a triangular prism.
These two corners meet, 90 sides B and X Join.

4, 1.25 cm
Each bounce 15 haif the height of the previous bounce

Sthbounce=5-2e25cm
Othbounce=2%+«2=125cm

5. 8

The number of children who chose a ¢ hoce late biacuiy
Withjuice 6 9 -5 = 4 12 children chose utcein total o
the number who chose juice and a plamn becuit o
18428

6. 30%

< out of 40 children chose e '/, L om0y
(dhivide both numbers by 4. than muttiply by 10,
This s the same as 2013
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45

s

9. D 2, £ -yt
2 ) eauaiers fractions of /s and /3 that have the
aarme GEmomIrALor _—
2, €/, (mubely both rumbers by I

[{]

= 59
-

5 13 =
* ’-P,Jf,:ﬁ‘! b:f}' rumbers ty ../)-

=q0
10. 151 to 180° 50 the third angle

praes inatnanae add up 10 15 :
C erarge = 180 - 90-61 =29 Angesona straight
et s 160" Sob=180-29=151"

p
lre ads up W 1O

1. C

Tre 720y

o015 £5, 50 the EXPression will be

e T ra of £3.25
"6+ comresring. Tree 58 Change per plate 07 £9.£9.
For p piates Ures W be2 22 xp,0r3.£5p.
Sptacost=0+3 Zep

12. £3.50
T, frd tre cost of partng 10 plates av Plates R Us,

re30 (FF tre cost of paring 5 plates from the graph.
oo £1750 5x 2= 10,50 panting 10 piates costs

£175072=£35
Gorzores e cost 66+ (D25 X 10) =
5=£3550 iork out how much Gina saves by

i
32
tre dtterence between the Two prces:

™
or

™ P&
=)
S

“\SA‘

1. 120mm

Fepiar pentagons ham 5 sides of egual length.
S tre ergir ckeacn side =000 ~ D = 120 mm
{use srort dneon or partitioning)

2 D

Frund eacn rumiser in the caiculaton 1o a sensivie value:
150 OO0 - 20 000 = 120 000

Tree chosest opton 1o this 15 125 906.8 — option D.

3. 6.4 cm

Trerasis haorde s v a¥ of Ure doameter. o0 Ue radius
w1252 =0bhom

A

Fad Vek wairs o db S aems, 1004295+ 245 +
H *

47

OGO 100 +540+ 7006 00mM
Lo much a0 te 100 m botvcase 150t used

Toag
¥

o _—
Jne%u [, SGeachof the 4 ohces on Kupys plate s
/.t ””*i/‘f/,'///ﬂ

MEXPDZE

Eimane e

6. 2592 m?
Area=0x 432 432 bregs
6x4=246x03=1 &6‘385024;0_3%02
S00x432=244 1_51’0‘12':25*54212\

. m-.'

70 C

The years ao 2002, 2003, 200

/ b )" . ' 4‘ ’

2016, It 00ks like there's been 5 w”ﬁjﬂg‘g’“’ 102015

sold, when it may have been 3 very gragdual dr: Pinbikes
Cr

€a

8. 6:57pm "
Find the number of mi
545 pm nutes between 630 pm ang
83010845 =15mins Total= 1205 2|

(5 of 1 55) ming = 135 = 5 = 27 ming (5o 5"1 35 ming,
dwision). /5 of the candle had bumed 27 ort
6:30 pm, whichis 6:57 pm, mins after

9. 1

To get the mean. the total mark is divide

of tests. So multiplying the mean mark gjbghih: o
tests gives the total mark. For the first five wsgber ¢
totalmark =7 x 5= 35. Forall six tests: torg

6 % 6=36. S0marks in sixth te5t=36_35_rqm=

10. C
Count back in 8s, from 17: 17,9,1,-7,-15,-23
-23is an option, so must be the answer.

11. 3,1)

Moving one square left decreases the x-coordinate by 1
Moving two squares up increases the y-coordinate by 2
S0, new coordinates are (-2 - 1,-1+2)=(-3,1), '

12. B
The number of blocks in the bottom layer of 2 pattemis

the pattem number squared. S0 the bottom layer of the
n*” pattern has n blocks, There's atways 1 block inthe
top layer. so there are n” + 1 Vlocks inthe n” pattem

o mins,

Puzzles 1 — page 17

Pyramid Problem
Reading across each row, from left to right,

starting at the top. 22,140,6,13, 210.12.51.
105,84.5.

Test 6 — pages 18-20
1. B .
The 7in 1728 i5 worth 7 tens or 70. In options A
andE, the 7 is worth 7 ones (7). and in option D, tre 716
worth 7 tenths (0.7). Trese are smaller tran 70

2. 6
Each omall suare
Team D scored three more oma

This 15 equal to 3 x 2 = 6 points

i worth 8 + 4 = 2 points
i euares than Team P

3- B ) . 2
20 = Dhs G (3 B)+ (3% 2)» BV cauareratt?
small 5guares, w/hich matehes oprion

4. 90cm ) 1553001

Tre longer aide of the rectangle 15
LJOLN:?;HWH‘: 15 430+ 19+ 20 em

oceP2!

etV .

C
3 of 120= 12,50 5% 0t 120 = 6,100 24
All of the other options make 24.

6.

150ml =
; 12 cm

The area of a trian

G0 for this triangle, 24 = 5 %
5o the height must be 12 cm.

gle is '/, x base x height.
4 x height = 2 x height.

% e dM (1000) Il have one line of
100) an a
v(5).¢(109) 100 + 1000 = 1105.

symmetry. 5+

19}1.5 two ﬁgmes between 30 and 40 are 31 and 37.
%1+37 =08

1\? 1.;he wﬁgizgr% ﬁ\dam earns £7.00 x 2 = £14.00 per
day. In one week hé earns:

(5x £7.00) + (2 x £1 4.00) : égggto) + £2800

So the mean amount = £63.00 7 = £9.00 per day.

1. E
4 b lie on a straight line, and angles on a

The angles a an ¢
straight line add up to 180°. S0 b=160"-a

12. £4.90
{fn =10, then B = (24 ~ 10)+2.5=2.4+2.5=4.9‘

In pounds, this i £4.90.

Test 7 — pages 21-23

1. 17 minutes

The bus will arrive at High Street at 304 pm.
2:47 pmto 3.00 pmis 13 minutes.

3.00 pm to 3:04 pmis 4 minutes.

So Dan will have to wait 13 + 4 = 17 minutes.

2, C
19590 rounds up to 20000 to the nearest 1000.
Als incorrect because 2499 rounds down to 2000 to

the nearest 1000.
B is incorrect because 19 590 rounds up to 19600 to

the nearest 100.
D s incorrect because 20005 rounds up to 20010 to

the nearest 10.
E is incorrect because 20 500 rounds up to 21 000 to

the nearest 1000,

3. 4
The bottom face of the shape will look like this: | |

Eachsquare hasanareaof 1cmx 1em="1cm LJ
Sothetotalarea=4 x 1 =4 cm’,

4. 24

)/Olumn ot one of s cubesw 2 x 2 x 2 « Bom®
Sovolume of 3 of Jill's cubes = 5 x & = 24 cm”

z/u!ume of one of Jackscuben=1x1x T 1om®

J}? Jack would need to une 24 cubes to make the same
- l‘pb'

5. 2
Use ohort division to work out 2576 « 9

S r?

a0 the rematnder 1o 2

Henio

M6XPD2E 1

E
1000 =0.15 litres. 25~ 0.15=235litres.

6. B

There are & divisions between O and 2.

s0 there are 3 divisions between O and 1.
S0 each divisionisworth 1= 3= /3

The arrow is pointing Lo 4 divisions past 2
3 divislons past 2 is 3, 60 4 divisions past

9/5 + 1/3 = 10/3,.

7 C

The shape can be oplit into a square of area3mx2Zm.
and a rectangle of areazmx G m.

Sothetotalarea=3x5+2x6=9+ 12=21m"
The area of the parallclogram in option C = base x heignt

=7x3=21m"
50 the paralielogram has the same area a5 the shape

8. 4750
To find Kemi's number, apply the inverse of the steps in

reverse order, i subtract /4 from S then multiply by
1000. /4 i6 the same a5 0 25,and 5 - 0.25=475
475 x 1000 = 4750, 50 the number must be 4750

2633

9' 43
62 =36 and 7 = 49 The primes that lie between these

numbers are 37, 41,43 and 47. The only one of these
whose digits have a difference of 1is 435. S0 Mark must

be43

10. 40km
From the graph, 2.5 miles = 4 km.

S S S Sats sion S

4 l f~1~+~;-" B e g ‘ E
ft—tr= -t =

» 3ot =t
g | ] ‘ ]r ’-T‘ B ‘E."
- SRREP- SR RREERES

| EsZduunl Ananusw

0 1 23 45686 7

Kitometres

So,scaﬁngur:
10x25miles =10 x 4km
25 miles = 40 km
11. D

The kite has a vertical line of symmetry, which makes the
angle opposite the 120° angle also 1207 Angles m any
quadrilateral add up to 360", so the top and bottom
angle will add up to 360° - (2 x 1207 = 1207
Sox+y=120"

12, E

The sequence starto withn = 1, and for the 107 term
n= 10 Eiscorrect because whenne 1 4 1«2
(even), andwhenn = 10, #° + 1= 107 (odd)

A i incorrect becavse when s 10, 2n e SO (even)

B i Incorrect because when n = 10, 20 = S e O {even)
Cinincorrect because whenp = 1.0 = 1 (0dd)

Do Incorrect because whena = 1. 2m + 1« 5 (0t

Test 8 — pages 24-26

1. 20

5 amall packeto will cost S x S8Op = 400

£3 80w 300p. Y0 the muttpack 16 400 - A e JOp
cheaper

©CGP 2017



2. 84 mm | _
A regular hexagon has 6 equal sides, 60 if the perimeter

of one hexagon 15 36 mm, each side must be

%G - 6=6mm There are 14 of these sides on the given
shape, 60 the perimeter = 14 x © mm.

émék 14into 10 + 4. 10x6=060. 4x6=24

S0 14 x 6 =00 + 24 =64 mm.

3. C
The total of the shoe sizes =7 + o)
21 =3 x 7,501t isnot 4 prime num

4. 9
If the mean of six sizes is 5, then the total of all sixmust

be 6 x 5 = 20. The total of the 5 known sizesis 21,90
the sixth size must be 30 - 21 =9.

5. C |
C fits the sequence because doubling 3 and adding nine
gives 6+ 9= 15,and doubling 15 and adding nine gives
30+9=39. .

A is incorrect because doubling 1 and adding nine should
aive 11, not 2, as the second term.

Bis incorrect because doubling 11 and adding nine
should give 31, not 22, as the third term.

Dis incorrect because doubling 2 and adding nine should
give 13,not 11,as the second term.

E is incorrect because doubling 1 and adding nine should
give 11,not 10, as the second term.

6. C

After translating the cross

5 squares up and 2 squares left,
it now lies on Line S.

+H+2+4=21
ber. S0 Cis not true.

0 1 2 3 4
Time (mins)
The graph shows that the hillis 150 m high, so halfway
up the hill must be 150 = 2 = 75 m. Reading across and
down from 75 m gives a time halfway between 1 and
2 mins = 1"/, mins. There are 60 seconds in a minute,
601/, mins =60+ 30=90s.

8. 15 seconds

8

a_n
[+
oSO

Height (m)
(43}

i

5

, vy

0 1 2 \ 3 /4
Time {mins) 2m20s 3m50s

There are six divisions per minute on the time scale, 50
each division 15 worth©0 s - 6 = 10 6. It took Kate

2 mins 50 6 - 2 mins 20 5 = 1 min 30 6 1o run down the
hilt Sosherandownthe hil 1 mn45s-1min306 =
15 s faster than last time,

M6XPDZE1

2. y 25 mm
Ind the diameter of the om
o € Smaller braceley. 1
!l?hZ?adla‘uof DM, 50 /5 0F 75 215221 79
; Us ot acircle is half of it diam COXE 550 m
of the smaller bracelet is 50 - 2 eter, 5o the radiy

=25mm,
10. C
The ratio of the circumference ic 2
Ceis /2

Multiply both sides of the frac’laon/ ;y .'3/53' i
%? the number of jewels are also in the r;ggig >
3/eri ared partsz)in the ratio, so the [, er b "

5 of the jewels, /5 of 25 = (25+5) x95 - ;ascelet has

11. D

fA=3andB=1,then(2 x 3)-

ﬁ\he given equation is 5a1Eisf)i(ed.) Bx1)-3 Meaning
i5 incorrect because (2 x 4) - (3 x 1) <

Bis incorrect because (2 x 5; - Eg : ;g - 8

Cis !ncorrect because (2 x 3)-(3x 3) :_3

Eis incorrect because (2 x 4) - (3x2) . 2.

12, 15
B=9,5024-(3x9)=5
24~ 27 =3,50 24 must be 30,
andso Amustbe 30 - 2 = 15,

Test 9 — pages 27-29

1. 60°
The angles on a straight line add up to 180°
180° - 120°= 60", Aulad

2. D
-55Ct00Cis55°C. 0°Ct04.5°Cis 4.5

So the total temperatureriseis 5.5 °C+4.5°C=10°C

A and C are incorrect because they each involve a
temperature increase of 12 “Cnot 10°C.

B and E are incorrect because they involve a decrease of
10 °C, not an increase.

e 21
The total who wanted coffee = 65 - 29 = 30,
The number of those who wanted their coffee with mik

=36-15=21.

4. D —
The fraction who wanted tea withmilkk = /5= /5.

1/ as a percentage is 20%.
5.

There are 5 divisions between 10 and 20 on the
frequency scale, 50 each division Is worth ‘
(20-10)+5=10-5= 2 people. Sohalfa division
is worth 1 person. Reading off the bar chart using this
scale, the frequencies for each colour are s follows:
Red = 12, Brown = 25, Blond= 16, Black = 24 and
Other = 13. 24i52 x 12,90 plack is twice as common

asred.

6.
The scale starts at 10 ratherth :
each bar looks smaller than it really is, which makes the

i For example.
differences between the bars look bigger. i
the height of the Black'bar looks much more than bW

the height of the Red'bar.

7. 258
The mean is the total m

an 0, 60 the height of

ass of sugar divided by the

number of cakes, which 9&5 4555) g+ 16
45-9=560450+9=509
1592 604509+ 18=509+2=29%

e ceP 21

0.675 kg .
%talmae»9= 4509x% 2 5“'?509 X ?1/&
0. and 450 x '/, = 225,

50 x 2 =90 :
j(;)to:al mass = 900+ 225=1125g
Mass of the other ingredients = 1125 - 450=0754

6759+ 1000 =0675ka.

9. 135
if 2/4x = 90, then Vsx =90~ 2=45,

and Yax=x=45x3=135.

10. 40 000 mm?
Split the shape up Into a triangle and a rectangle:

100 mm

E 200 mm

o B

b

-

Area of atriangle = 1/, x base x height,

0 Area A= /2 x 200 x 100 = 10000 mm?’.

2 of a rectangle = length x width,
Qc:i\rea[i: 150 x 200 =150 x 2 x 100

- 300 x 100 = 30000 mm®.
Total area= 10000 + 30000 = 40000 mm?,

11. E

AandD are both /42,

B|93/12 +4/12 =7/12.

Cis &/12"3/12 = 5/12.

E 5 3/, which Is the same as %/1.

This Is larger than all the other fractions.

12. 1000 cm?

The width of each cube In cm Is one more than the cube
number. So the width of the 9% cube will be
9+1=10¢m.

Volume of a cube = width x width x width, so the 9™ cube
has avolume of 10 x 10 x 10 = 1000 cm®,

Test 10 — pages 30-32

1. D

The firet, second and fourth shapes have five sides each,
0 they are pentagons. The third shape has six sides. so
it I a hexagon. So option D Is correct.

2, 10

The factors of 50 are: 1, 2.5, 10,25 and 50.
Thefactorsof 60 are: 1,2,3.4,.5,6, 10,12, 15, 20.
30and60. So the largest of the factors they have in
commonis 10.

3. £1.35
10%0f£150=£150+ 10 = £0.15.
%o the reduced price would be £1.50 - £0.15 = £1.35.

4. 121 cm?

The perimeter of a square is 4 x
width,
the square = 44 ~ 4q= Hitony 50 the width of

The area of a square Is width x width.
Sothearea=11x11=121 cm”,

M6XPD2E1

\L \ \ "/.1, \‘\ \

5. B
The ruler shows that 5 cm Is approximately 2 Inches

1 metre = 100 cm = 20 x Hem S0 1 metre s
approximately 20 x 2 Inches = 40 inches

6. 180
The multiples of 10 below 200 are: 190, 180. 1 70

190 i5 not. a multiple of 9, but 18015 (180 = 9x 20)
S0 180 is the largest number under 200 that can be

divided by both 9 or 10

7. D

The people who own a pet are represented by half of a
right angle (90°). S0 the number who own a pet must be
half of '/ of the total= '/p,

Half of theee own a dog. 50 '/ + 2 = /1 0wn a dog,

8. 175

The fraction that do own apetis /e,

200 -8 = 25 people own a pet.

50 200 - 25 = 175 people do not own a pet.

9, 85cm?

Add up the lengths of the grey rectangles to find the
length of the blue rectangle: 3 +8& + 6= 17 cm.

The width of the blue rectangle i5 the same as the radius
of the circle  cm. Multiply the length by the width to
find the area 5x 17 =85cm’.

10. 81
The sequenice is the squares of the odd numbers (17, 3.
52,7¢,..). 50 the next number will be & =81,

1m. T

T has coordinates (3, 7).
sowhenx=3,y=2x3+1=7.

None of the other coordinates fit this pattern:

ForS (3. 1).x = 3, 50y would have to be 7. as above.
ForU(5.9).x=5.50 ywould have tobe 2 x5+ 1= 11
ForV(7.3).x=7.s0ywouldhavetobe2x7 +1=15
ForW(9.9).x=5s0ywouldhavetobe 2x9+ 1= 19

12. E

For a translation of 2 squares left. the x-coordinate
should decrease by 2. and for a translation of 1 square
up, the y-coordinate should increase by 1.

So the coordinates of the translated point are
x-2,2x+ 1+ )=(x-2.2x+2)

Puzzles 2 — page 33

Safe as Houses
The correct code 1s 5269 1.

Interesting Times
The correct timeis 16.01.

Test 11 — pages 34-36

1. D

30.5 cmis far too short to be the length of a netball
court, and 30 5 mmiis even shorter. 30 S kmis far too
long. m©ie a unit of area and not length. So the only
possible length is 30.5 m (option D)

2' C

There areten steps from241t025 25-24=0.1, 80
eachotepisworthQ.1+ 10=001. The arrow s at the
ninth step, 60 0.01 x 9= 009, This means the arrow is
at24+009=249
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3. (2,3

i the ant turns 907 anticlockwise it will be facing west.

the ant will move
alki ards two squares means »
v\(»fcl)kmgu;ien; 1o the lefronthe grid. So the r2 co:ﬁnfr::te
zf th?ant’e posttion. (4. 3), will decrease by < 2

y-coordinate will 512y the same: (2. 3)

inutes |
gt;u necd‘ Eo Tnld  number of minutes which xauabr::mple
‘ ber of minutes wi
of 25and 3. Since the num s
% it will be a whole number. 104
nmuu:t[gf o.f minutes, Lisa will have 0 cycle around the

s 2x25=550the
¢rack an even number of tg‘:‘; £ 5. The first number which

il also be 2 Muftip
:;u; :l,m;'e of 3andHis 15. S0 they would next leave
the start line at the same time at 15 minutes.

hat are 9 years oldis 40 - 5 = 6.

15% of the children are 10 years old. 10%0f40is 4
and 5% of 4015 2,60 15% of 40is 4 + 2 = 6.
& there are 8+ 6= 14 children that are 9or 10 years

old. This meang trat 40 - 14 = 26 childrenare 11
years old

6. A )
D 4de the angle of the whole pie chart (360°) by 5.
72

0
350°+ 5= 5'360 =72°

7. £17.91
4.5 kg of vird seed Is the same as 4.5 x 1000 = 45009

of bird seed. This means that 4500 g = 500 = 9 bags of
bird seed are needed. The price of 3 bags of bird seed

(9 x £1.99) can be worked out by multiplying by £2,
thenadjusting. 9x £2=£18. £2-£1.99="1p,and
1px9=9p. £18-9=£1791.

8. 120m?

The two long sides of the rectangle are 12 mx 2= 24 m
intotal. 5o the two shorter sides are 44 m-24=20m
intotal. Oneshort sideis 20m=2=10m.

Area =lengthx width=12mx 10m=120m,

9. 230

Tomhas £2 + £2 + 20p + 20p + 20p = £4.60 in total.
£1=100p.s0 £4.60 = 460p.

50 he will receive 460p + 2p = 230 2p coins.

10. 13and2

The prime numbers less than 20 are 2,3,5,7, 11,13,
17 and 19. Working backwards, 30 + 2 = 15, s0 the
two numbers have to add up to 15. The only pair of prime
numbers under 20 that add up to 15 are 13 and 2.

1. C
Using the graph. baby Ericis 2.5 ‘
about 7.75 pgund;’y kg and baby Sue is

Sueis 3.5-2.5 = 1 kg heavie i
s kg heavier than Eric s options A and

Sue s heavier than Eric by 7.75 - 5.5 = 2 25
. D=2, unds,
options D and E are false and option C is true, .

12, 62.8cm

C=3"4dmeans the sameas (=314 x d Substitute

20ford:C=314x 20i
GG S ax 20 thesameas 3.14x2 10

5. D
The number of children ©

M6XPD2E1
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Test 12 — pages 37.39

1. D

Six millionis & 000 000. Foyrh
thousand s 430 000, 5evel:tylf$gﬁdi}
Adding these together gives 6 43() 032 :

2. 32km
25%= /4 50 the walkis 4 x 8 32k

3. C
Read off the number of votes recg;

Singer: 7 votes, gymnast: 3 VOﬁes.Jv‘sg;g :E;ch act,
magician: 15 votes, dancer. 11 yoteq i 4votes
numbers which add together to maye iy o;wo of ¢
numbers: 3+ 11 = 14, Sothe et With th e otrer
of votes as two other acts compin ‘s

4. 5:1

The magician received 15 votes ang ¢h

received 3 votes, so the ratioig 15- 3_8[%";”&%
numbers by 3 to simplify the ratio: 5.1 g

5. 4
List the numbers between 1 and 10 wh h

24:1,2,3,4,6.1d 8. Fid whichof hegg o 72"
alsofactors of 30: 1,2, 3 and 6. 5p 4 numbers ol
spinner are factors of both 24 ang 30, e

6. 21

Each patternin the sequence has 2 more|j

pattern before. Fattern 10is10-4=¢ panig?: :fhé,
pattern 4 in the sequence. There are 9 lines in patiem 4
50 pattern 10 will have 6 x 2 = 12 more lings; '
9+12=21lines.

7. 58hours

There are 24 hours in one day, 50 to 6 am on Wedn
there are 24 + 24 = 46 hours, There are 6 hours 1o
12 pm on Wednesday, and then another 4 hours 1o 4 pm
onWednesday. S0 he has 48 + 6+ 4 =58 hours o
complete the ride.

8. 34km

To find the mean distance, divide the total distance by
the number of hours: 136 = 4 (use partitioning).
136km=100km+ 36km. 100 + 4 =25k,
36+4=9km 50136+4=25+9=34km

9. B

Find how many times & km goes into 136 km.

136 + B = 17 (short division). Work out how manyties
136 km is approximately equal to by multiplying 5 miles
by17.17=10+7.5x10=50.5x7=35,

505 x 17 =50 + 35 = 85 miles (option B).

10. 4940 cm? 52
The floor measures 52 cmby 95¢m. x 95

thjf‘ty

Area = length x width. 260
+4080
a0

11 . D m= 141 m

100¢m=1m, 50 95cm=099m,141¢ "
52 cm=0.52 m. Round each measurement 102 5’«’”;’
value. 0.95 mrounds to 1m. 1.41mrounds % "%
0.52 mrounds to 0.5 m. Estimate the volumen
cage using these valugs: 1 x 1.4x0.5=07m ’
Work out how many rats could be keptIf the ca?gr 4
dividing the whole volume by the volume needed
rat:0.7 - 007 = 10rats.

© C6P 2017

dme Mtper

ways half of the x-coordinate at

A
coordinate 1 al o /% (option A).

nt, on the graph.

pages 40-42

12.

The v~
any pol
Test 13 —

1. lin both lines
rid 5ymmctrlca

To ;anffn 22‘:’)? 2 squares nesd to be shaded.

o '

2 ¢ i al angles in a paralielogram 60
There a;e %0 Z:‘Z:z:rizct T?we angicz must add up to
o A Y125+ 125 = 350" (option B) and
o0 50+40+40=1 80° (option D), 50 option Cmust
]?go c;rrect:. since 50 + 50 + 130 + 130 = 300°.

%;e heuglr(v;c of 100 new pound coing i 100x28=

height of 100 old pound coins i
288 ngﬁ .56 ;65 mm. The difference in height between
Qhetwofowsrs i5 315 -280=35mm. 10mm="T1cm,
50 35 mm=3.5cm. S0 option Cis correct.

4, 12.9 cm
h del will be 15% of 86 cm. 10% of
The lengeh Of E O o, 5% of 86 cm 16 8.6 cm + 2

i 56—:-1
fi%n::]:l 50 15%i6 10% + 5% =86+ 43=129cm.

. 160 cm?
?he base of one triangleis 32 cm+ 2 = 16 cm.

The height of one triangle 15 20cm.
Area of 2 triangle = '/, x base x height
=1/,x16x20=8x20=160cm".

6. 25%
There are two smaller right-angled triangles left over on

each side of the piece of card. Each left over triangle

is equivalent to half of one of the blue triangles, so
together they have the area of one blue triangle. This
means the total area of piece of card is the same as the
area of 4 triangles, 50 '/, of the card Is wasted which is
equivalent to 25%.

7. £79.92

Multiply the cost periitre of petrol by the number of
litres in a full tank using partitioning,
£1.11=£1+10p+ 1p.
£1x72=£72,10px72=720p=£7.20,1px 72 =
72p.S0£111x72=£72+£7.20 + 72p=£7992

8. 45 litres

There are 8 intervals between an empty tank and a full

vank, so each interval shows '/ of the petrolin a ful

1r:f:nk, /6 of the petrolin a full tank is 72 - & = 9 litres,
© arrow points to the mark after the fifth mterval

sothereare 5 x '/, = %/a of the petrol left. '

Sothereare 5x 9 = 45 litres of petrol left in the tank.

9. B
Eachinterval on the y-ai

Y-axis = 100 = 4 = 25 pooks.
Between the ends of week 1 and week 2, the grapsh

ncreases by 2 Intervals, so th
| , ere we =
ks read during the second week., EnE5=30

10. 19
The graph
four weg SNoWS that, 300 books were read I the first

5 0f the readathon. To find the mean number of

books, divide th
OKs, e to
children: 300 . Oial‘lrg?be{ ;f books by the number of

M6XPD g4
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1. C "
Divide both sides of the equation by
B(x-2)~3239+3

x-2=13

Add 2 1o both sides of the equation: X =

12 C
Multiplying any num
produce an even num

134+ 2=15.

per by an even number will alwayo
ber so option A will always produce
even numbers and ogtions B and E wil pfoduca even
numbers i n i an even number Adding < 10 an even
number will always produce an even number. 50 option
Dis incorrect. Adding 1 to an even number will always
produce an odd number. 50 option Cis correct.

Test 14 — pages 43-45

1. 6

Find the number of brothers by working out how mary
times £30 goes into £180. 18 < 3=0.90

1860+ 30=6.

2. E

Work out which faces are opposite

when folded into a cube

So option E will be the face at the bottom,

3. A

Count back in 3s from 17 until you reach a negative
number- 17, 14.11,8.5.2,-1. S0 -11s the first
rumber below zero that Karen will count.

43 C

1000 ml = 1 litre, 50 500 mi = 0 5 litres and 150 mi
=0.15litres. Ahmed makes 1.75+05=2.25litres
of fizzy apple juice After drinking some of the mixture,
thereis gp25 -0.15=2.1litres left in the jug.

5 60
Count the number of children who have lost 7 or more
teeth: 20+ 21 + 19 = 60 children,

6. B

Add up how many children were asked in total using
chunking: 30 + 25+ 35=90. 20+ 21+ 19=60.

So there were 90 + 60 = 150 children in total

30 out of 150, or %45, children hadn't lost any teeth,
Dwide the top and bottom of the fraction by 30 to
simplify the fraction: /s,

17_}; 50 ml
ereare 1 +5 = 6 parts paint in total So each part is
300 - 6 =50 ml. S0 Kay should use 50 ml of bluz paint.

8. 1.025 kg

The mass of 100 pound coins is 100x 95 = 95049 So
the total mass of the money box and coins is 75 + 950
=10254 10009=1k,50 10259=1025kg

9. 11:10 am
?Oscg? = 1min, 50 90 secs = 1.5 mins,

Set ot running and walking lasts 1.5+ 2 = 3 5 m;
So six sets of walking and running1s 6 x 3 5 rﬁansm "
6x3=‘|8mms.6x05=5mma.506x35=‘
;I?+3=§t1emmg21mm5=11mm5+10mm5

mins atter 1049 is 11:00 am. ins after
11:00ami5 11:10 am. i

©CGP 2017



10. 232m Py
Volume = length x width x height AR

348 = length x 5 x 3 T
348 =lengthx 15. 48
Solength =348 + 15, 45

30

30

0

1. C

Foint (4, 9) has been translated 3 units to the right

(7 - 4 = 3), 50 the x-coordinate of point P will be 5 units
bigger: 6 + 3 = 9. Point (4, 9) has moved 1 unit down

(9 - 8 = 1), 50 the y-coordinate of point P will be 1 unit
smaller. 3 - 1 = 2. The coordinates of point P are (9, 2).

12, £68.00

Substitute 20 for m in the formula: C = 50 + (0.9 x 20).

09x10=95009x20=9x2=18.
C=50+18=£66.00

Test 15 — pages 46-48

1. 97 minutes

Work out how long it takes the bus to get from Easton
to Fryton using chunking. At 10:00 it has travelled for
33 minutes. At 11:00 it has travelled for a further 60
minutes. At 11:04 it has travelled another 4 minutes.
So it takes the bus 33 + 60 + 4 = 97 minutes.

2, 0.67

To find the largest and smallest numbers, look at the
digits in each column of the numbers, from left to right.
Each number has & in the tens column. 88.10 and
88.04 both have 8 in the ones column but 88.10 has a
higher number in the tenths column, so it's the largest.
8743 and 87.62 both have 7 inthe ones column but
87.43 has a lower number in the tenths column, so it's
the smallest.

The difference between the numbers is 88.10 - 87.43.
Use partitioning: 67.43 =87 + 0.4 + 0.03.
6810-867=110,11-04=07,07-00%3=067.

3. B

Angle x is bigger than 180° so it can't be options A or C.
181°is aimost a straight line, so option E is incorrect.
260° s amost a right angle (90°) bigger than a
straight line (180°), which is too big, so option D must
be incorrect. So the best estimate of angle x must be
200° (option B).

4, D
(2-Nx4=1x4=4 (4-1)x4=3x4=12.
Clive's sequence is option D.

5 B

The total of the ages of the children is
5+6+8+2+4+5=30. S0the mean age is the total
age divided by the number of children: 30 + 6 = 5.

6. 2and4

The total age of all the children is 20 (worked out in
previous answer). The total age of the girls is

4 x 6 = 24. Sathe sum of the ages of the two boys Is
30 - 24 =0. Find two of the ages which add to 6. The
boys must be 2 and 4.

7, 134
Work out how many times 9 goes into 1204:
133r7
91204
S0 Jo willneed 134 boxes to pack away all the baubles.

M6XPD2E1

8. 115

The 23 blue cars make up 1,

of
The number of red cars i5 /fz 23“6 totalny

n mberof
cars. 50 the number of sy, 8 01 the ot 1S
& o=~y = % of the oy 25

/g 0f the tot,
So there were 5 x 23 slyer cai;%’"ber of carg

25=20+3 5x20=100,5 , 35_61"2“'”0"5“9:

100+ 15 = 115 gjjver cars, © %0 there Were
9. D
138 x 4.4 will be 10 times smaller than 13

6072 + 100 willbe 100 tim
So the two sides of the o Sl than 6072
equal, calculation inoption fot,

]'0. £28.08

O%of £48 i6 48 « 10 = £4,80

B0%OF£4B 15 £4.80 % 3= £14 40 (150 prr.

5% 0f £4BISE4B0 2= £2 40 o PAUlioning)

S035%0f £4B15 £14.40+4 £2.40 - £15

ﬂ% Prize Is £48 - £16.80. ©0 Sotte
~£16=£32,£32 - £0.80 -

10%0f £31.20i6 £3.12, Po-£3120

SoRyan pays £31.20 - £3.12.

£31.20~£3=£28.20,£28.20- £0.12 - £

11. 43
Find the multiples of 7 between 30 and 50,3
.35,
Add .1 o each number: 36, 43,50, 36 and50 :rgbj;
multiples of 2, 50 the prime number must, be 43,

12. C
A kite has two pairs of equal sides, 50 its peri
b36+6+x+3+x+532x+18. (R

Puzzles 3 — page 49

Cake Cutting

Clare ate the 30° slice Dillon ate the 90° slice, Adam
ate the 120° slice, Gosia ate the 60° slice, Fred ate the
smallest slice (10°), Eve ate the 50° slice.

Symbol Sums

Test 16 — pages 50-52

1. 6
30+ 30+ 30=90,and6x 15=90.

2. 88 minutes

0931 to 1031 is 1 hour = 60 minutes.
1031 to 1059 s 25 minutes.

So total time = 60 + 28 = 68 minutes. "
(It is the same time for each train on the timetable)

3. 09:46
To get to Mancton by noon, the latest trainshe h;arr: (egn
6 the 1037 train from Birville (which arrlges u} :héur

at 1159). She needs to leave the house /4 072

= 45 minutes before 1031, which 1 09:46 (minus
1 hour and plus 15 mins).

4, C
Als false because a square |
B, D and E are false because

of symmetry.
. £1.60 o
22,00 +£1.004£150+£2254 £125

+5 days = £1.60 (use short division)
£6,00 5 days = £160( )

ular qu
5 areguar g lo are nob 28

their diagona

£8.00.

?é (16+2)f, = 1075+ 22 4%y =24
= s 1
AL equivalent 10025,602'/4=2.25.

?h ed r£96 .. 4 = 24 raising, 50 In total there are
c

o6+ 24 = 120 nuts and raisins.

cm?

d back faces each have an area of

2 The slde faces each have an area of

2 The top and bottom faces each have an
2 o the total area of the net
X4,5)= 12+0+9= 27 cnt’,

The front an
szﬂécm
2% 1l5=56m
areaof5" 165=45cm

ia:(2x5)+(2"5)+(2

9. for ‘cherry represents 10%
h the top section for cherry repres :
E;:Zgao géf’ the barrs smaller than a 10% section would
be lower down the jar.

;hg"megﬁwrf}" section represents 90 - 50 = 40% of the

total number of jars of jam. 10% of 90 = 9 Jars, 50 40%
0f90=4x9:56_’2r5,

1. £2.05
I?iarf an hour = 30 minutes, so m = 30.

e 25+ (6x30)=25+180=205p=£205

. 19:52
{13% = 25 +6m,s0 6m=060,andsom = 10 minutes.

The call started 10 minutes before 20.02, which i
19.52.

Test 17 — pages 53-55

1. 72
There are only two multiples of 9 between 60 and 80 —

these are 63 and 72, Only 72 is also amultiple of 4.

2. D

45 litres = 4.5 x 1.8 pints, which is approximately, but a
little less than, 45 x 2 = 9 pints.

%0 8 s the closest option.

3. 30

4.5 litres x 1000 = 4500 m,

4500 + 150 = 450 + 15 = 30 (it is 10 times bigger
than 45 - 15 = 3). So he can fill 30 cups.

4. 2

The terms in the sequence decrease by 3 each time, so
to find the first term, add on 3 twice to -4
Secondterm= -4 + 3 = -1

Firstterm=-14+3=2

5. E
gptlons A-D are equal to 27.
/70f101s “Y/;, which is equal to 2%,

6

12345 x 100 = 1234 5

50 the two sides of the
7 equation are E
boxes contain 1 00. 4 narenet equalfboth
7. D
Thirty-two thousand five hundred is 32 500.

The largest nump '
\argest er the population could be 15 32 549 If
It was 32 550, it would round up to 32 600,

M6XPD2E1

1

From the graph:
30F1622°C40FL44C
S0 the difference in temperature (s 4 4 - 2.2 = 2.2°C

9. E

1m=100cm 50001m="1cm.

The radius is half of the diameter. 50 radius = 0.5 cm,
Tem=10mm.s005cm=5mm

10. 90°

The shopkeeper sell 50 - 20 = 30 meat pies. and
20 vegetavle ples.

Amount of money from vegetable pies =

20x £150=£30

Amount of money from meat pies = 30 x £3 00 =
£90.

Total made = £30 + £90 = £120, of which °/1 20
comes from the vegetable pies. Simplify /1,0 by
dividing the top and bottom by 30 toget /s,

Y14 of 360° = 90", 50 the shopkeeper should use 90°
for the section representing the money made trom
selling vegetable pies.

1. 8cm’

The sheet of paper measures 3 squares by 4 squares.
So the paper could be divded into 3 x 4 = 12 squares
The area of the paper is 46 cm® 60 each square has an
areaof 48 = 12 = 4 cm*. S0 each side of each square
must be 2 cm (2 x 2 = 4 cmr”). So the volume of the
cube willbe 2x 2 x 2=8cm’

12. C

The angles in a triangle add up to 180°, which gives:
2v+0v-10°+4y+ 10'=180°

12y-10"+ 10" = 180°

12v = 180" (s0 options A, B and D must be incorrect)
Dividing both sides of the equation by 2 gives:

6v = 90" (s0 option E must be incorrect)

Test 18 — pages 56-58
1. 3

There are 5 faces In total — two triangular ends and
three rectangles.

p 11
Customerswithacatbut nodog =57 - 20 =31
Customers withno dog andne cat =42 -31= 11,

3. 58%
Customers withadog = 100 - 42 = 56.

There are 100 customers in total, 50 *%/, o = 58%
own a dog

4. D ‘4
Plot the point (-1, -3} on 4
the grid. 1ts reflection in the 2
vertical y-axis hao the same et L
coordinates as point D 4 20 2 47¢
2
(-1,-3)« | oD
4
©CGP2017



5.
{F the mean length (in cm)
10, then the lengthe mus
11 and 23 could not be three of these lengths, because
they add up to 41, which 15100 big even without the
fourth length. All the other options add up to less than
40, 50 they could possibly be three of the four lengths.

6. 07
'/, i6 equivalent 10 0.5 and ¥/ is equivalent 10 0.8,
S0 41/, - 3%/5 15 the same a5 4.5 - 3B, whichi5 0.7.

7. 100
There are 5 child symbols and 1 7.5 adult symbols, 50

thereare 17.5-5="12.5more adult symbols than child
gymbols. 12.5 symbols represents 1250 people.
125 x 100= 1250, 50 1 symbol represents 100 people.

8. C

Opposite angles in parallelogram are equal, and all four
angles add to 360" S0, 2x + X + 2x +x = 360"
6x = 360", 50x must be 60° (divide both sides by ©).

of the four pieces of string is

9, 2.4kg
%20 g serves 4 people, 50 5209 - 4 =80 g serves

1 person.and 30 x 80 g = 2400 g serves 30 people.
10004="1 kg 50 2400 g=2.4kg.

10. c
I onlly 24 people are served, then 30 - 24 =6 people’s

rice will be wasted. Thisis /30 =%/10=20%

11. 6241 mm’
The area of the parallelogram equals the area of the

uare. The square’s sides measure 31 6+4=79mm.
Area =79 x 79 = 6241 mm? (using long multiplication).

12,
In each shape, the height of the rectangle is n cm,

and the wiathis 3n cm. So the perimeter of each
rectangle is n+ 3n + 1+ 3n = &n. None of the other

options simplify to this.

Test 19 — pages 59-61

1. 123500

The digit in the column to the right of the hundreds
column is 5, 50 the 4 in the hundreds column rounds up

to 500.

2. B

There are 7 squares between point Y and point Z. Sothe
miirror line must be hatfway between them: 7 = 2 = 3.5,
50 the mirror line is 3.5 squares right of point Y.

3. E

The sequence in E increases each term by 9, so the
seventhtermis 44 + 9 +9 = 62. This s the only option
that does not have 64 as a seventh term.

The sequence in A doubles each term 1o get the next
term, so the seventh termis 16 x 2 x 2 = 64.

Tre sequence in B increases each term by 5, 50 the
seventh termis 54 + 5+ 5= 64.

The sequence in C is the square numbers, starting with
27, S0 the seventh termis 8° = 64.

The sequence in D decreases each term by 6, o the
seventhtermic 70 -6 -6 =04,

4. 6
The two prime numbers between 60 and 70 are 61 and

o7 67-61=06.

t add up to 4 x 10=40. 507,

47

5. D

Using the information in th
€ questi
completed on the graph as fé}lo;;‘ 0N, the scale Canbe

225 sereeefesnsensiannn

along - 150{ S0 1 division i 0 M
path (m) "~ 100 i
|

50 i
O 1233356718
Time (mins)
The graph shows that she walked 225mi
optionDis true, Aisfalse because o
she stopped after 3.5 minutes, B j
g;aph shows she walked 225 - 12
she stopped. Cis false because ¢
reached the end of the path afterha3 ? rgF::n? g
[‘EI is false because the graph shows sHe walkz;e: '
1.5 -7 = 4.5 minutes after she stopped i

g. 12:44

ose reached the end of the path .

she finished the whole walk inp1 1 '5a xﬂgj 2155 nflmnutes. 50
107, whichis 16 minutes (23 -

whichis 1244, (23 ~7) before 13,00,

7. C

Y416 equivalent to /5.

910113

total 5o
the graph 5h0w5

e th
=1 OO m afwr e

7, .3 _10
l1p24 7 12= /1p= 5/6 of the coins are not 50p coins,
This leaves "/ of the coins which are 50p coins.

8. £4.60
7/12 = "#/54,50 there are 14 x 10p coins, worth £1 40

14 =%/,4. 50 there are & x 20p coins, worth £1.20.
There are 24 - 14 - 6 = 4 x 50p coins, worth £2.00.
S0 Jay has £1.40 +£1.20 +£2.00=£4 60,

9, C
1m =100 cm, so the trackis 14.3x 100 = 1430 cm

long. The number of hops x 65 = 1 430.
10 x 60 = 650 (t00 small), and 100 x 65 = 6500 (too
big). so the number of hops must be between 10 and

100. 22 is the only option in this range.

10. 29 seconds
The carrot is pulled a distance of 0.5 min1 g, s0it willbe

pulled a distance of 1 min2 s and 14.3min 145 2=
266 5. This rounds to 29, tothe nearest second.

1. 8
41 *5h=17,905h=41-17=24.

5h=2450h=24+5=8.

12, 45
The ‘Easy and ‘Medium' sectors ma
total. %/, of 80 cyclists = ©80+4)
50 Ba + a = 4a =00 cyclists.

15 cyclists, and 50

This means that a = 60 + 4= ,
34 (the Easy sector angle) = X 15 = 45 cycliets

ke up %/ of the pigin
x 3 =00 cyclists.

Test 20 — pages 62-64
1. C
Twenty-seven pounds = £27.Cls corregt bcc;uise

_B 427 = 19. Alsincorrect because ;i +2 0.not 27

not 32. Bls Incorrect because ~1 *+ /s .
D and E are bothincorrect because -9 + 27=16.10
190r17. ©CGP2077

i, gt S i

m’
2. cuboid i5 length x width x height.
S'Tyhogvvoohllun:rrfzax 25 x6=10x6=60m"

E
1/501"1/3# Y352 15

-]
4. the size of each angle must
5 & angles. 50 v
’;n %%er: ?51 135° (use short division).
e

h has 5 divisions for every

onthegra
a he 0 -5 =2 pupils. Reading

5. B
ical &¢ _
‘[‘hoea ;ﬁ:;;lls 50 each division = 1
raph. the helghts of the bars are: |
upils. 1pet= 19 pupils. Zpets= 9 pupils.
i =2 pupils. The total number
16 = 6 pupils. 4 pets=2p .
of upi|5i512+ 6+2=4b 64-2-&0{' 1
have at least 3 pete. So the fractionis “/4s = /e
(eimpllfy by dividing 1op and bottom by 8).

o . 1 pet = 19 pete
19 pupils have =
9pfpirshas/62pct5=9x2=18pets

u ilshave&pet5=6x5=15pets
2pupi|5have4pe’55=2><4=5p6t5 .
Sothereare 1 +18+15+8=65pet5mwtal.

7. 7

There are &x 20 = 160 squares in total. '

Using short division to share 160 between 9 gives:
17 r7

o[160  Sothereare7 squares left over.

8. £3.23

10%0f £3.860=£380+ 10=£038

5% of £3.860=£038 -2 = £0.19

S0 15%of £3.80 = £0.30 + £0.19=£057.
The reduced price is £3.860 - £057=£323.

9. 1.53 m
100 cm=1m,s0125¢cm= 125m, 162cm=162m.
The total of the four heights is:
155+125+1.7+162 =6.12m.

To {;in‘o_l ghe mean, use short division to divide 012by4
4[6:12 S0 the mean height is 1.53 m.

10. B

The shortest person in the groupis 125 cm tall.

I£1 inch = 2.5 cm, then 10 inches = 25 cm. There are 5
lotsof 25in 125,60 125cm=5x 10=50 inches.
There are 12 inches in a foot, so this means

50inches = (4 x 12) + 2 inches = 4 feet 2 inches.

11. E

The area of the square is a x a or a’, 50 this rules out
options A and C.

The area of the rectangle is b x (b + 5), which can be
written as both b(b + 5) and b(5 + b), s0 this rules out
options Band D b(b+5) can't be writtenas 2b+5.

12. 4cm
The area of the square = 6 x 6 = 36 cm’. This is the
same as the area of the rectangle, so the length (b) and
width (b + 5) of the rectangle must multiply together to
Z{ake 36, and have a difference of 5.
) is a whole number, so find the factor pairs of 26:
Thand 36, Zand 18,3 and 12,4 and9,6and 6.

e only pair with a difference of 6 is 4 and 9. so length b
must be 4 cm (and b + 5 = 9 cm).

M6XPD2E1
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Puzzles 4 — page 65

In a Pickle
The suaar is the ingredient that will run out first

She has 1000 a of suaar which means she can make

B lots of the recipe, using 64 imes, 24 garlic cloves and
64 cm’ of ginger This leaves 16 limes, 1 garlic cioves
and 56 cm of ginger.

Riddie Me This
Its name 15 CROAKY.

Test 21 — pages 66-68

1. 80

Use partitioning to eubtract 75 from 155
155-75=159-55-20= 100-20=80

2. 18 minutes
‘Ihour=60mmuu9902hour5=2x60=

120 minutes. Use partitionng to work out 15%0f 120
10%0“20:5120—10: 12 mnutes.

5%15 12 « 2 = © minutes

S0 15%15 12 + 6 = 1& minutes

3. 21 minutes

The time on the clack reads 9 minutes past 4 Convert
this to the 24 hour clock 1602 Itis 12 minutes from
1548 1o 1600, then 9 minutes from 1600 te 1602,
S0 it took Jackson 12 +9=21 minutes to get home

4. E
Change the fractions 5o that they have the same

denominator: . ‘ .
Muttiply the top and bottom of '/ by D togve /2o
Multiply the top and bottom of /s by 4 togive /20
Add the fractions together to give a0+ 20= /20

5 B

B is correct because 5 x 11 = 55, minus 7 = 48, which

rounds to 50 Aisincorrect because 5 x 9 = 42, minus
7 = 36, which rounds to 40 (s incorrect because

7 x 9 =63 minus 7 = 56, which rounds to ©0 Dis
incorrect because 7 x 11 = 77 mnus 7 =70

E 15 incorrect because 2 x 11 = 99, minus 7 = 92, which

rounds to 90.

6. 147
Add together
Venn diagram.

7. 81
Add together all the numbers that are not in the football

circle of the Venn diagram: 17 + 42+ 22 = 81

8. £2.10

Benijl spends
£240+£090+£090+£055 + £055=£530

50 Benji has £7.40 - £5.30 = £2.101eft
9. 0.5 km

15 minutes is a quarter of an hour. In 15 minutes Skyla
runs 10 = 4 = 2.5 kmand Faloma runs 12« 4=3km
S0 Faloma runs 3 - 2.5 = 0.5 km further than Skyla

all the numbers in the tennis circle of the
24 + 17+54+42= 147.
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10. C
Work out which direction she is facing after each tum.
N N
NW NE NW NE
w ( E w \ E
sw SE swo oS
125° arte-clockwise SW 45° clockwize W
11. C

work out the height of each tnangle using the formula:
heght = area - ( '/, x base)

OprionA heght =21+ (/,x6)=21+3=7 cm
OptionB heght =20~ ("/,x5)=20+25=8 ¢m
OrtionC heignt = 15-(/,x3)=15-15=10 cm
OptionD. heght =8 -(/,x8)=8-4=2 cm
OptionE: height = 12-(/,x4)=12-2=6 cm

50 option C i the tallest.

12. 30

Work out the total of the Lriknown angles by subtracting
tne known angles from 360°. 360 - 20 - 120 = 150.
S0 150=2a+2a+a=5a S0a=150+5= 30,

Test 22 — pages 69-71

i. B

Convert all the prices to the same unit. 100p = £1, 50
45p=£0 45, Order the prices in £ from smallest to
largest: £0.45,£0.54. £4.05, £4.50, £5.40.

S0 from smallest to largest the prices are:

45p £054,£4.05,£4.50,£5.40.

2, 12cm

Tm=100cm. After cutting off 4 cm of ribbon, she has
100 - 4 = 96 cm of ribbon remaining. So each length of
rivbon that she cuts willbe 96 - 8 = 12 cm long.

3. C

The numbers in the grey box need to be odd and multiples
of 7. Only option C has numbers which are all odd and
multiples of 7: 21,35, 77.

4. A
“/ is equivalent to 1%/, 50 option A (") is bigger.
5. 13mm

Work out the length of each car by finding the difference
between the ruler measurements at each end of the car.
CarAG1cm-05cm=56¢cm.
CarB116cm-73cm=43cm.

Work out the difference between the two car lengths:
Socm-43cm=13cm.

Tem=10mm.s01.3cmx 10=13mm

6. D A

After the reflection, Lm|9 ¥

the shapelooks ke this. ) '~ [
7. B

The pie chart shows that '/, of the pupils have blue eyes
ard '/, of the pupils have brown eyes.

9072 - 2 = 36 pupils have blue eyes and 72 «~ 4 = 18
pupils have brovm eyes. S0 the number of pupils with
greeneyesis 72 -6 - 30~ 18 = 12 pupils.

8. 150 g

The jar contans 2%% + 47% = 70% red and blue jelly beans.
S0 100 - 1% = 307 of the jelly beans are green. 0%
ot 100 g5 309 «030%0t 0091530 gx5=1504,
MEXPDZE 1

14

aE' : J

9. C
Sanjithasm+ 4 packs of stick

S €rg. i
M+M+4=2ms4packs ofsmckersso ot they have

10. 10

The number of packs of sticke

I % rs
inthe previous question),so 2m Eoigﬁ
50 2m muyst be equa 3
equalto 12-2=¢,

Sanjit hasm + 4 packs of stickers < +4=10

(1: 1 : : 76 litres
ariton has 2 more symbolg ¢,

pictogram. Each 5ym5tlyo! 5ta:d:r;ocra 2?:,0” e

has sold 4 x 2 = 8 more Cups than Cag, 720 Crton
Ea]cn Cup contains 220 m| of lemonadeezb G

‘rsod 8 x 220 Ml = 1760 ml more lemoﬁade ta:to i
(use partitioning), M Casey
1000 ml = 1 Itre, 50 1760 ml+

;h2. £68.10

e total number of symbols | i i

5o the total number gf cups ;t!;;esrqct%ram o
The total made from seliing the iemonade g
70x£1 20 = £84.00 (use partitioning),

So the profit made is £684.00 - £1590=£6819

1Test 23 — pages 72-74

To work out the missin value, divid
3640+ 1002364 e 36408y 100,

2. C

Chapter 1 is 30 pages long,

Chapter 2i5 75 - 30 = 45 pages long.
Chapter 3i5 133 - 75 =58 pages long,
Chapter4is 184 - 133 =51 pages long.
Chapter5is 227 - 184 = 43 pages long.
So chapter 3is the longest .

3. C

An acute angle is smaller than a right angle.

S0 Angles d and g are acute. All of the other labelled
angles are bigger than a right angle.

4, 134°
The angles on a straight line add up to 180"
Soangle his 180° - 46° = 134",

5. 81

Work out how many sets of 2 steps Johntakes:
54 - 2 = 27. Robyn takes 3 steps for every 2 of Johr's,
50 she must have taken 27 x 3= 61 steps.

6. £0.10

One beef burger costs £4.20 + 6= £0.70.

One lamb burger costs £3.00 + 5 = £0.60.

S0 one beef burger costs £0.70 - £0.60 = £0.10 mare

than one lamb burger.

s 10:55 am |
Each line on the timeline is equal to 15 minutes o
Read off the timeline that Giovanna has lunchat 5 -
Use partitioning (1 hour 20 mins = 1 hour + 1 E mI:rk

+ 5 mins) to work out what time she goes 10 the va :
12:15 minus 1 houris 11:15, minug 15 minutes

11:00, minus 5 minutes is 10:55.

t =
s 16-2rn+4(fcnuna
-4 12,andmmusr.be

1000 = 176'”2!‘85

©CGP 2017

our 10 mins
: :hel"length of eachactivity to 12:15
A521d105”+ 2% mins = 12:40. 12:40+ 1 hour = 1:40.
1z

ing = 2:10. _
1:40 + 555 r:;::; = 2 hours minus 5 mins.
1 hour O+ 2 hours = 41 0. minus 5 mins = 4.05,
h ﬁ;;gnna shows dinner time is at 5:15, 50 she has to

wait 1 hour and 10 mins.

E |
of the point must be between -60
(G)mx:ﬁ?oordmag must be between -30 and 20.
and 2 ption E (-41,6) will be inside the rectangle.

)
o
=
<
o

0. < t 10togive

d 1393.6 1o the neares g
Ro4uond rif’lz 5%?;] Find the difference between 340 and
7 3- 12390 - 340 = 1050. Divide 1050 by 2 1o give
. 525 to 340 to find the approximate halfway

5?751; gg% + 340 = 865. 5o find the option closest
| Ez 365, The answer must be option C.

1899

. S ————

/1\611;! up the number of competitors in each points group

|

’ mber of competitors in total:

| 2-0+ng gu“ltfhg:% =30. Mult?ply the number of

’ competitors by the mean number of points to find the

| total number of points: 30 x 63.5 = 18699 (which s the
| same a5 3 x 633 — use partitioning).

. D
;ieop!e scored 80-89 points and 5 people scored

-79 points, 50 3 + 5 = & people scored 70 or more
;Zooim:s. I’QI 1 people scored 60-69 points,508 + 11 = 1‘ 9
people scored 61790 or more points. So the personin 15
place scored between 60 and 69 points. So only option
D could have been the number of points scored by the
person in 15" place, a6 69 is the only value in this range.

Test 24 — pages 75-77

1. 2
The factors of 36 between 10 and 20 are 12 and 18.

2. D

Option A has a difference of 1.66 - 1.24 =0.42.
Option B has a difference of 0.386 - 0.31 = 0.07.
Option C has a difference of 47 - 1.0=3.7.
Option D has a difference of 5.16 - 481 =037,
Option E has a difference of 9.58 - 9.22 = 0,36,

3. 100g

The recipe uses 150 = 75 = 2 times the amount of

chocolate as butter. So Eliza will needtouse 50 x 2 =
100 g of chocolate.

4. 12

Eliza has %0 e, of the butter needed for the recipe.

Snmglify the fraction by dividing the top and bottom by

125: /3. S0 Eliza will be able to make %/3of the 18 cakes.
/3 of the cakes would be 186 - 3 = 6 cakes.

SoEliza canmake 2 x 6 = 12 cakes.

5. A

Trapeziums do not have 2 pai

sides of a rhombus and a SZUTmO;;q:ﬁégﬁiﬁﬁggﬁ 2 :

rectangle only has right ang| '
A ales. Only a parallelogram has
allof the features that Zoe descrlbgs. d ¢

M6XPD2E1

6. 69

Work out what each part of the sum is equal to:
2’28,309,3°=27,5 =25

Find the sum of the parts: & + 9+ 27 + 25=69.

7. D

Work out wich faces of the net will be (113]

opposite each other when folded nto a cube. 136

Find the net where the numbers on each pair

of opposite faces adds up to 7. ?
lum must use option D.

8. D

The kite has a vertical ine of symmetry, so the two
smaller sides are both 2.0 cm, and the two longer sides
are both 39 cm. S0 the perimeter of the kite shown is
20+20+39+39=13cm.

S0 the perimeter of the enlarged kite is
25x13=(2x123)+(05x13)=26+65=325cm

9. 22

There were 2 adults per family ticket. so on Monday
therewere 19 + (2 x 7)= 19 + 14 = 33 adults that
saw the film. On Friday therewere 23 + (2x 11) =33
+ 22 = 95 adults that saw the iim. 5055 - 3% =22
more aduits saw than film on Friday than on Monday

10. £301

The adutt tickets made 13 x £10 = £130.

The child tickets made 16 x £6 = £96.

The family tickets made 3 x £25 = £75

So in total the cinema made 130 + 96 + 75 = £301.

1. C

Half of the tickets sold were child tickets, so the pie
chart can't be for Monday or Friday. There were more
than twice a5 many adult tickets sold as family tickets,
s0 the pie chart can't be for Tuesday. There were less
than three times as many adult tickets sold as family
tickets, 50 the pie chart can't be for Thursday. So the
ple chart shows Wednesday's ticket sales.

12, C

Putx="7 and y = 3 into each expression.
OptionA:(6x7)+(12x3)=42 +36=76
OptionB(7x7)+3°+15=49+94+15=73
OptionC:4x7x3 =564

OptionD- 7% + (4x3)-(7x3)=49+12-21=40
OptionE:(5x7x 3)-10=95

S0 Marley's expressionis option C.

Test 25 — pages 78-80

1. 80

56 = 7 = & (using multiplication tables), 50 560 + 7 =
80. So each pile will have 80 beads in .

2 650 mm
The length of beads will be 50 x 13mm. 100 x 13 mm =
1300mm. 5050 x 13 mm = 1300 mm - 2 = 650 mm.

3 5

5 of the 9 cubes have exactly 2

spotted faces, as shown:

4, 4,5) TTT 7 3
The reflected shape | X

will look like this: ~—————3z 4
90 the new coordinates

of the labelied corner are ‘ Ih [j]

(4,5). AT
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5 B

1/, of the girle and '/, of the boys got 5 stars.
%6 - 4 = 9 girls got S stars. 28 + 4 =7 boys got 5
stars, s0 2 more girls than boys got 5 stars. So option

B is true, and this also shows that option Ais false.

Option C is falee because the amourts less than 5 stars

take up three quarters of the pie. which s 75%, not 70%
The number of children with 5 starsis © + 7 = 16.

So option E is false. The total number of childrenis

36 + 28 = 64, 1615 not half of 64, so option D is false.

6. 7
70° of the pie chart represents girls who got 3 stars.

Each girl is represented by 360° - 36=10" S0 70°
must represent 70 « 10 = 7 girls. Half of the boys got
A atars; 28~ 2 = 14. 50 14 - 7 = 7 more boys than

girls earned exactly 5 stars.

7. C
The length of one side of an octagonis 24 cm + & =

3 ¢m. The sides of the octagons and squares are the
same length. The shaded region has 16 sides. Sothe

perimeteris 16 x 3 = 48 cm.

8. 7and17
Find the prime numbers between 1and 20:2, 3,5, 7,11,

13.17.19. Add up any pairs which have a difference of
10: 3+13=16. 7+ 17 = 24. So Connieis thinking of

7and 17,

9. 23%
2 litres = 2000 ml. Dulcie has drunk *6%/, 000 of her

target water total. Simplify the fraction by dividing the
Lop and bottom by 20 so that the denominator is 100:
“/100 90he has drunk 25% of her target water volume.

10. B
Round 290 mlup to 300 ml and estimate the number of

glasses needed.

6 glasses x 300 ml = 1800 ml, s0 6 glasses won't be
enough. 7 glasses x 300 ml = 2100 ml,

Use partitioning to work out that 7 x 290 = 2030 mi.
S0 she needs at least 7 glasses to meet her total.

11, 0.265 kg

The teddy and the car weigh 894 g - 2 = 447 g. Sothe
teddy weighs 447 g - 182 g = 265 . Divide by 1000
to convert tokg: 265 + 1000 = 0.265 kg.

'2' B

2(x“ -~ 14) = 44. Divide both sides of the equation
by2togivex’-14=22,

Add 1410 both sides to give x° = 36,

6" = 36. 50 Manqj is thinking of the number 6.

Puzzles 5 — page 81

Percy’s Picture Puzzle

MEXPD2E1

Test 26 — pages 82-84

1. £704 305.08

Seven hundred and foyr thous,

Three hundred and five pounoisi;1 i%%'gdi Is £704 Oy

£0.06. Addig these together gy ﬁ?o'ggtge”“'s
508

4
2. 29
You find each term by adding 3
50 the next terms will be 1 7g 250 Ztge grew'ous term
The 10th term s 29, 60.26,29,,

3. 24

Ore quarter of the people are ve, '
et

bebx4=24 people coming in tgtaina

4. E
The total number of books (s 3 74
o
The total numbe1r zof books that are fan;ai +0: = 5‘.
; ;] 5’; 15 fﬁo /18 books are fantasy Ory%i.?J.ﬁ i5
plity the fraction by dlvgdmg the numerator gy

50 there .

denominator by o: 12/15 = /3.

5. B

Area of a square = length x length

side multiplied by itself eoluafsg.6 S0 ngthofr
So the length of one side = 3 ¢m (9=3x3)

So the perimeter of the squareis 3+ 343, 3=12em

6' c

Angles in a triangle add to 180°. Angles i

Kn’a?gle are equal 50 each angle is 16@0 - g fr}fgf’ i
ngies on a straight line add to 180" 2l

A soanglezis

7. 0
The shape does riot have any lines of symmetry,

8' D

The area of the rectangle is 3 x 6 = 18 units?.

The area of one triangle is '/, x 3 x 2 = Bunits?

The total area of 3 triangles is 3 x 3 = Qunite’. Thisls
different to the area of the rectangle, so Dis falee.

9. C

The smallest possible width of the ovenls 75.5 cm
(anything lower than 5 in the tenths column would
round down to 75 cm). The smallest possible width of
the space is 77.45 cm (anything lower than S in the
hundredths colurn would round down to 77.4 ¢m). SoC

i6 the correct option.

10. £72,00

One ball of wool costs £2.60, so half a ball costs
£2.60 -2 = £1.30. 1 scarf needs 1.5 balls of wool,
which costs £2.60 + £1.30 = £3.90. The wool

for 30 scarves costs £3.90 x 30 =£117 (use
partitioning or the column method). To find the profit
subtract the cost of the wool to make 30 scarves
from the total amount made from selling the scanes

£189-£117=£72.

1. E
Each friend gets £150 + 7. 7 niz% o
Using long division: —————% "%, 3519
Rounding down, gives 21.42 1000
to the nearest penny. _700
%00
280
020
014
000
oCGP017

16

erations to work out
L5 st o 1 o 8512
5+4‘x h addinon:']z.;‘é:“? 4% 3,60
Thendo ¥ 65 means that n1s lessthan 5+ 4 x 3. A
peBrdxs argest square number below 1715 16 (4°).
g; ;hz'laizzet number n could be i 10.
Test 27 — P2ges 85-87

1. 0°is g lots of 90° (using muttiplication

N
3% 9=c/) w E
tables knowledge ove 3 right-angles C\

arrow will m ,
f,%ﬁ:; the weather vane and pont south. )

2. 5 ber of cousins.
= total age = num
e mgaﬁmb&r of cousine = total age - mean.

hen :
SZ :Aika has 40 = 8 = D cousins.

rams are urnits of mass. and milimetres

3.

Grams i 0 les out options A, B and D.
re of length. So that ruies ou pt :

f\r\fobi':::i of 2.59fmllmtres isvery sma]l (option C). s0 the

units are most liely 1o be litres (option E).

e iecesis 12 -3 =4 Soshegives

1/, of twelve 20 pence piece ‘
hezni nephew 4 x 20p = Op in 20 pence anecea. ,
1/, of eight 10 pence piecesis & =4 =2. 50 she gives
her nephew 2 x 10p = 20pin 10 pence pieces.

S0 in total Dora gives 80p + 20p = 100p = £1.00.

5. 3

Find all of the factors of 60: 1,2, 3,4.2,0.
20,30, 60. A prime humber has exactly 2 factors.

1 and itself. Find the numbers in the list which are prime

numbers: 2,3, 5. So there are 3 prime numbers that are
factors of 0.

6 E

Convert the fractions so they have a common
denominator 3%/4=3""/50. /5= "/20. S0 Lolahas

3"/ 20-Y20=3""/50 packs of chocolate buttons left

7 20

Each pentagon symbol in the pictogram shows 25 trees,
50 each triangle that makes up the symbol is worth
25+ D =5trees. There are 4 more tnangles for ash
trees thanelmtrees. So there are 4 x © = 20 more ash
trees than elm trees.

8& D

Add up the total number of triangle symbols for

cach tree: 13 (ash) + 9 (elm) + 8 (fir)+ 10 (oak) = 40.
59 /a0 of the triangles are for fir trees.

Simplity this fraction by dividing the numerator and
derominator by &: '/,

9. E

Areqular shape has sides of equal length. So the
p_)cfmctcr = thelength of one side x the number of sides
=2 ¢mx.x =5y cm (option E)

M6XPD2E 1

10. 360 ,
60 cm = 600 mm 36 cm = 360 mm. 45cm = 450 mm

how many 15 mm fit in 600 mm
gérf ﬂuff: 4 506\{')0 - 15 =40 S040books canfiiin
one row along the length of the box. Work out how many
120 mm fit in 2600 mmwdth 36+ 12 = 3 00
260 - 120 =3 S0 3 rows of books can frtvm Lhev
pottom of the box Work out now many 150 mm fit in
450 mm heiaht, 45« 159 =3, 60450 « 1f)O= %)
S0 3 layers of books will fill up the height of the box
One layer of books will have 40 x 3 = 120 books
S0 the whote box will contain 120 x 3 = 300 books

11, 120
Work out how many boxes will be completety ful

360 + 360 = 720(2 boxes) 720+ 300 = 1080
(3 boxes). 1080 + 360 = 1440 (4 boxes) There are
not enough books 1o fill 4 boxes, 50 there will be 3 ful
boxes and 1200 - 1080 = 120 bocks left over

12. D )
Find the value of n by using 5= /;(n+ 1)

if 7, 0f (14 1)i5 5. then (n+ 1) must be 2 x 5= 10
S0, 10 =n+ 1 Subtract 1trom both sides Lo get
9=n 5o the 9” term (option D) in the sequence 15 5.

Test 28 — pages 88-90

1. 1400
7x200=7x2x100=14x 100= 1400

2. £33.65 7 )
Noah needs to save £5000 - £16 35 = £33 65 more

(use partitionng)

3. £12.50 )
25% is the same as one quarter. 50 find 25% of £50 by

dividing 1t by 4, which 15 the same as halving it twice:
£50-2=£25 £25-2=£1250
S5025%0f £t501s £12 50

4 9cm

Count the total number of sides of all four shapes =
3+4+5+6=18sides Murtiply this by 2 to aet
the total penmeter of all four shapes 18 x 2 = o cm

Divide the total penmeter by 4 (the number of chapes)
to find the mean perimeter 30 - 4 = O cm

5. D

Twice as many quests chose £qas as chose pastnes 60
option B1s mcorrect. Twice as many guests chose cereal
as chose fruit, so options A and b are incorrect Ning
times as many guests chose cereal as chose pastries, 50
Cisincorrect. D must be the correct st

6. 27°

Farallelograms have 2 pairs of equal opposite angles

So the bottom nght angle of the paralielogram must atso
equal 63°. Angles on a straight hine add to 160" «o

anglea=180-63-90=27"

7. £5.50

Belle buys the same as Amy plus one coftee, so one
coffee coste £O 29~ £4 90 =£175H

Soone cike costa £450 -£1 75 = £2 75
Sotwo cakee cost 2 x £2 79 = £550

8 A

Adbul has Y/5 of amelon. ‘/., <ds'/y e ‘t’.‘_:
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9, 0.06s

The winner is the swimmer with the shortest time. This
is kim with 28 93 5. The person in second lace ts Li with
3004 5. Kimis 3004 - 29 98 seconds faster than Lt
Find the difference by counting up: from 29 98 to 301s
002 From30te 300415004 5030.04-2900=
002+004=000s.

10. D

Farallelograms have two pairs
of equal parallel sides. So find
palrs of points that join to form
parallel lines and are the same
distance apart.

S0B,C,E and F are the vertices
of the paralielogram.

1. 1.5cm?

The area of a parallelogram = base x height. The base of
the parallelogramis 3 grid squares = 3x05=15¢cm.
The height of the paralielogram s 2 gnd squares =
2x05="1cm Soarea=15x1=15cm’

12. 90 mins

Ollie could walk w miles in ong hour, 50 1o walk 3/4w miles
1o the bakery, 1t would take “/4 of an hour = 45 minutes.
S0 to go to the bakery and back, it would take 45x 2 =

90 mins.

Test 29 — pages 91-93

1. 1208
Sally gets 300 g - 3.
26-3=12,60500-3=1204

2. 30%

Work out the total number of half segments that have
been shaded: 4 +2+2=9.
Each star can be divided into
10 half segments, so there are
10 x 3 = 30 half segments in total.

So 9/30 half segments have been shaded.
Simplify this fraction by dividing

the numerator and denominator by 3: Y
This is equivalent to 50%.

3. 8acm

The total perimeter of three stars is 240 cm. Each star
has 10 sides, so there are 10 x 3 = 30 sides in total.
S0 the length of one side is 240 + 30 =& cm

(use 24~ 3=0).

4, B

3.58is 100 times smaller than 358.

S0 1690 834 -+ 3.58 will be 100 times bigger than
1690 834 - 356.

So the answeris 4723 x 100 =472 300

half segment

5. 7am

The rectangle is made from 2 equal triangles, so the
rectangle’s area is twice the area of one triangle
=14cm’x 2 =28cm

Area of arectangle = length x width, 50 28 = 4 x width.
S0 the width must be 28 = 4 =7 cm.

6. 8192
Number of bits in a kilobyte =
number of bits in a byte x number of bytes in a kilobyte:

1024
T
£192

MEXPD2E1

18

7. C

2\» afraction of the whole circle, 144/,

Simplify the fraction by dividing the nﬁl;;ccrh”{iftn Sald
: 12 a ;

denominator by 12 '“/», and then againb Fand i,

numerator and denominator by . <, y d'V!dm@ {

/e 15 equivalent to 40% (option C) 5 he

8. 6
40% of the class sald No (f -
ZOOBIOQI 540 = 060%said gzm Provous answer)
o = pf?pl? 1()%:12.;_415
class s 3 x 6 = 18 people. This s 185:’%20%0&;]6
than the number of people who saig Ny 6 more

9. C

Firet work out the value of 2/, of
30f£721

72 +3=£24 (use short division). 59 2;5 z;g;z :

24 x 2 =£48. Next work out double theﬁamou e

£22.50:22.50 x 2 = £45, Ellah nt of
£48. S0 she could have £46 50 (igggz‘ﬂé&;en £45 ang

10. D
Work out which corner joins to corner M:

No
e

So corner M joins to corner.

11. 17 150
Work out 1% of 49 000: 49 000 - 100 = 490.
Work out 35% of 49 000 by multiplying 490 by 35:

490
x__ 35
2%50

+ 14700
S -

‘117150

12. B
The mass of the bowl is 90 g. The mass of the flouris

10 x f=10fg. So the combined mass is 10f+90.

Test 30 — pages 94-96
1

8'more than -8is 0,50 10 more is an extra 2.

2. 1ikg
The apples weigh 7009 + 1000=0.7kg.

50 the grapes must weigh 1.8-0.7 = 1.1kg.

3. 119g

The remaining 5 apples have a mass of
7009~ 105¢=595¢.

S0 their mean mass s 595 = 5.

11
Use short division: 5[5 975 90 the meanis 1199

4‘

£6.79 e hobuys 14 -2
ilk, he buys 14 =
To get 14 litres of m e=£y1 -zp,so7x97P=

This costs 7 x 97p. 97
(7>‘£1)—(7x5p§=£7p—21p=w79.

= 7 containers.

o c6P 2017
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2
T r;e lenm‘;;h9 of gr:c elde of the square 19 the same aa the

( ) he length
of the pentagon. Work out t
lrgth 1 gi:g pcntagrf))n by dividing the perimeter by

grie 1;
gf' gg : ige=o'f7 cm. The arca of the square %
D xwidth=7x7 =480

6. 7 y
» & the buslest day this ye |
Z%ZgTdhauyrg;ay was the least busy day last year, with

3 children. 10-d="1.

B 10+ 3 + 4 + & =30 chidren
Th]éyearthﬂrewer@5;3wcr69+5+6+.’5 +5=31

st year the
In ot 'La ;I. There were fewer children thie year

than last year, 0 statement E l6 ot trué.

B e 10=48
ke off the extra 10 pigs. 8- 10=
%:Ztnzfnber of animals is made ng of gn e%ialogz;n:ﬁr
nd plgs. S0 there are 40 = ¢ = h
fdfﬂ?rﬁfhe eagra 10 pigs on gives 24 + 10 = D4 pigs

(option D).

9, 36
igo = 34 x 2 =68,
The new number of pigs 34-10=24 /30f24=

Id number of cows was ’
Ehtf f 3 = 8, 50 the new number of cows i5 24 + & = 32

So there are now 68 - 52 = 36 more plgs than cows.

10. 35° )
The angles around a point add up to 260"
Soa+2a+ 165"+ 90° = 360", .
This means that da + 255° = 360", and 50 3a = 105"
Soamust be 109°+ 3= 35°,

11.
The reduced prices for each option are a5 follows:

A: 10% of £2000 = £2000 - 10 = £200, 50 30% of
£2000 =3 x £200 = £600. S0 the reduced price is
£2000 - £600 = £1400 B 25%of £1800 =
£1800 - 4 = £450. So the reduced price i5

£1800 - £450 = £1350. C. £1600 - £150 =
£1450.

D: V4 0f £2100=£2100+3=£700. Sothe
reduced price is £2100 - £700 = £1400.

E:£1500 - £860 = £1420.

S0 B is the cheapest, at £1350.

12. D

For the other two sets of coordinates, the x-coordinate
has increased by 3, and the y-coordinate has decreased
by 2. So (x.y) will be translated to (x + 3,y - 2).

Test 31 — pages 97-99

1. £0.65

1kg=1000 9. 1000 g costs £6.50, 50 100 g costs
£650 - 10=£065.

2. C

The time where the temperature reaches O °Cis the
point where the line crosses the x-axis. Each division
on the axis represents 1 minute. The line crosses the
x-axis 4.5 divisions after 5 minutes, whichis 5 + 4.5 =
9.5 mins = 9 mins 30 secs.

3. 10 °C
At O minutes, the temperature is about 5 5 °C.
At 16 minutes, the temperature is about 4.5 °C.

M6XPD2E1

ar with 10 children,

Find the difference beteiern ®5 %0 and s
Splw(}” 5 Oto-45 =457,
Difference =5 % + 4 5= 1070

4, 4owm

The volume of the cube = length « width « hevint =
2x7x2=bcm’ Sothevolume of the cubod m

alen Bom’

50 the height of the cubold = volume - (engtr x wdth)
=h-(Z ﬁ1)nfj-~2=4tm

5. D

Write down the terme m the ceauerce by drading tre ‘
revious term by 2 uritil you reacn A number Lnat b noy |

whole 2. 16,6 4 21,05 Sothe 7' termin the !

sequence 1o the firet that s not 3 wnoe number

6. 303mm

Find the total length of the cardies 28 « 6 = 225 mm
(use partitioning) Find tre total lenath of the coaces

between the candles 15 x5 e 75 mm o the gned »
2284+ 25=203mm

7. 45

107% of A00 bouauets = 30 bouauets.

S0, 20%=2x30= ol pink bouaurts M etxd)x
180 red bouguets 5o trere are 300 - o - 160 - 15
= 45 yellow bouquets

8. 900 |

From the previous anawer, there are G0 gk bouauets |
Sq there are 60 x 12 =720 pok roses :
There are 15 x 12 = 180 white roces (e part onwg)

So total pnk and white roses = 720 + 150 = o

9. E

In Roman numerals, D15 500, C16 100 L 18 50 X 530,
Vis 5 andlis 1. 60015 100 more than 00 (0] BU
i5  tens more than 50 (LXXX), and an extra S 9o
DCLXXXV

10. C
236.6% 15 the same a6 36 0 ~ 100 = 0 %0 rot 366
11. 42cm?

Each triangle nas a base of 14 -2 =7 cm.and 3 heght.
ofG-2=3cm Areaofatnanges /,x pase x hegt.
s0eachtrangle has anareact /;xTx3=105cm
So the four triangles have a total arca of

4 x 105 = 42 cm* (use partitioning)

12. D
If the mean 15 m. then the total of the numbers must

be 3m The only seT of numbers tnat adds up to om &
optaonD.m—5+m+2vm+3=3m

Puzzles 6 — page 100

Funny Money
The bank should give Daisy 15 homns (£97.50) and

1 flower (£2.50).
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